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TNPSC GROUP I TEST BATCH 2024 

TEST IV  6-12TH GEOGRAPHY 
 

1. There are ____ Seismic zones in India. 
a. Five   b. Four   c. Three   
d. Two  e. Answer not known 
,e;jpahtpy; ___ epy mjph;T kz;lyq;fs; cs;sd. 
a. Ie;J  b. ehd;F   c. %d;W   
d. ,uz;L  e. tpil njhpatpy;iy 

 
2. Match the following - Earthquakes 

A. Uttar Kashi    1. 1950 
B. Koyna Earthquake   2. 1999 
C. Chamoli     3. 1941 
D. Assam     4. 1967 
E. Andaman & Nicobar Island  5. 1991 
 A B C D E 
a. 5 4 3 2 1 
b.  5 2 4 1 3 
c. 5 2 4 3 1 
d. 5 4 2 1 3 
e. Answer not known 
epyeLf;fq;fs; - nghUj;Jf. 
A. cj;jpu fhrp    1. 1950 
B. nfha;dh epyeLf;fk;   2. 1999 
C. rhNkhyp     3. 1941 
D. mrhk;     4. 1967 
E. me;jkhd; & epf;Nfhghh; jPT  5. 1991 
 A B C D E 
a. 5 4 3 2 1 
b.  5 2 4 1 3 
c. 5 2 4 3 1 
d. 5 4 2 1 3 
e. tpil njhpatpy;iy 

 

3. The Major Dravidian languages are ___ in numbers 
a. Five   b. Four   c. Three   
d. Six   e. Answer not known 
Kf;fpa jpuhtpl nkhopfspd; vz;zpf;if ____. 
a. Ie;J  b. ehd;F   c. %d;W   
d. MW   e. tpil njhpatpy;iy 
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4. Match the following 
A. Buddhism   1. Agiyari 
B. Jainism   2. Vihara 
C. Judaism   3. Mosque 
D.  Zorostrainism  4. Synagogue 
    5. Basadi 
 A B C D 
a. 5 2 3 4 
b. 2 5 3 4 
c. 5 2 1 4 
d. 2 5 4 1 
e. Answer not known 
nghUj;Jf. 
A. Gj;jkjk;   1. mfpahhp 
B. rkzk;   2. tp`huh 
C. a+jk;   3. k#jp 
D. n[huh];bhpak;  4. rpdfhf; 
    5. grhjp 
 A B C D 
a. 5 2 3 4 
b. 2 5 3 4 
c. 5 2 1 4 
d. 2 5 4 1 
e. tpil njhpatpy;iy 

 
5. Match the following 

A. World Population Day    1. May 21 
B. International Mother Language Day  2. July 11 
C. World Religious Day    3. February 9 
D. World Cultural Diversity Day   4. January [3rd Sunday’s] 
E. National Census Day    5. February 21 
 A B C D E 
a. 2 5 4 1 3 
b. 2 3 4 1 5 
c. 2 3 1 4 5 
d. 2 3 5 4 1 
e. Answer not known 
nghUj;Jf. 
A. cyf kf;fs;njhif ehs;   1. Nk 21 
B. rh;tNjr jha;nkhop jpdk;   2. [_iy 11 
C. cyfkj ey;ypzf;f ehs;   3. gpg;uthp 9 
D. cyf fyhr;rhu gy;tif ehs;   4.[dthp [3tJ Qhapw;Wf;fpoik] 
E. Njrpa kf;fs;njhif fzf;nfLg;G ehs; 5. gpg;utup 21 
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 A B C D E 
a. 2 5 4 1 3 
b. 2 3 4 1 5 
c. 2 3 1 4 5 
d. 2 3 5 4 1 
e. tpil njhpatpy;iy 

 
6. Find the Incorrect pair 

a. Jaisalmer  - 1500MW 
b. Brahmanvel - 528MW 
c. Dhalgaon  - 278MW 
d. Damanjodi - 99MW 
e. Answer not known 
nghUj;jkw;wij Njh;T nra;f. 
a. n[a;rhy;kh; - 1500MW  
b. gpukd;Nty;  - 528MW 
c. jhy;fhd;  - 278MW 
d. jhkd; N[hjp - 99MW 
e. tpil njhpatpy;iy 

 
7. Match the following 

A. Ranthambore   1. Assam 
B. Manas    2. Jharkhand 
C. Nagarajuna Sagar  3. Andhra Pradesh 
D. Palamala    4. Rajasthan 
E. Indravathi    5. Chattisgarh 
 A B C D E 
a. 4 1 3 2 5 
b. 4 2 1 3 5 
c. 1 4 3 5 2 
d. 3 1 4 2 5 
e. Answer not known 
nghUj;Jf. 
A. ue;jk;G+h;    1. rhk; 
B. kdh];    2. [hh;fz;l; 
C. ehfhh;[{dh rhfh;   3. Me;jpugpuNjrk; 
D. gokiy    4. ,uh[];jhd; 
E. ,e;jpuhtjp    5. rj;jP];fh; 
 A B C D E 
a. 4 1 3 2 5 
b. 4 2 1 3 5 
c. 1 4 3 5 2 
d. 3 1 4 2 5 
e. tpil njhpatpy;iy 
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8. Match the following 
A. Thalaiyar Waterfalls  1. Tallest Plunge Waterfall 
B. Jog Waterfalls   2. Highest Waterfall 
C. Nohkalikai Waterfalls  3. The Niagara of India 
D. Talakona Waterfalls  4. Segmented Waterfall 
E. Aathirapally   5. Horse Tail 
 A B C D E 
a. 4 3 2 1 5 
b. 4 1 5 3 2 
c. 4 1 3 2 5 
d. 5 4 1 2 3 
e. Answer not known 
nghUj;Jf. 
A. jhioahh; ePh;tPo;r;rp  1. kpf caukhd Mokhd ePh;tPo;r;rp 
B. N[hf; ePh;tPo;r;rp   2. cah;e;j ePh;tPo;r;rp 
C. Nehfhspfha; ePh;tPo;r;rp  3. ,e;jpahtpd; eafuh 
D. jyf;Nfhzk; ePh;tPo;r;rp  4. $Wfshfg; gpupTw;w ePh;tPo;r;rp 
E. mjpug;gs;sp   5. Fjpiuthy;  
 A B C D E 
a. 4 3 2 1 5 
b. 4 1 5 3 2 
c. 4 1 3 2 5 
d. 5 4 1 2 3 
e. tpil njhpatpy;iy 

 
9. Match the following 

A. Bharatpur bird sanctuary  1. Uttar Pradesh 
B. Mayani bird sanctuary   2. Andra 
C. Uppalapadu bird sanctuary  3. Rajasthan 
D. Nal Sarovar bird sanctuary  4. Maharastra 
E. Nawabganj bird sanctuary  5. Gujarat 
 A B C D E 
a. 3 4 2 5 1 
b. 5 4 3 2 1 
c. 4 3 2 1 5 
d. 2 3 1 5 4 
e. Answer not known 
nghUj;Jf. 
A. guj;G+h; gwit ruzhyak;  1. cj;jpugpuNjrk; 
B. kahdp gwit ruzhyak;  2. Me;jpuh 
C. cg;gsg;ghL gwit ruzhyak; 3. ,uh[];jhd; 
D. ey;rNuhth; gwit ruzhyak;  4. kfhuh~;buh 
E. ethg;fQ;r; gwit ruzhyak;  5. F[uhj; 
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 A B C D E 
a. 3 4 2 5 1 
b. 5 4 3 2 1 
c. 4 3 2 1 5 
d. 2 3 1 5 4 
e. tpil njhpatpy;iy 

 
10. Match the following 

A. Point Calimere Wildlife Sanctuary 1. Ramnad 
B. Vettangudi birds Sanctuary  2. Ariyalur 
C. Karaivetti birds Sanctuary  3. Coimbatore 
D. Gulf of Mannar Marine Park  4. Nagapattinam 
E. Indira Gandhi National Park  5. Sivagangai 
 A B C D E 
a. 4 5 2 1 3  
b. 5 4 2 1 3 
c. 5 4 3 2 1 
d. 5 2 4 1 3 
e. Answer not known 
nghUj;Jf. 
A. Nfhbaf;fiu tdtpyq;F ruzhyak; 1. ,uhkehjGuk; 
B. Ntl;lq;Fb gwitfs; ruzhyak; 2. mhpaY}h; 
C. fhiuntl;b gwitfs; ruzhyak; 3. Nfhak;Gj;J}h; 
D. kd;dhh; tisFlh flw; G+q;fh  4. ehfg;gl;bdk; 
E. ,e;jpuhfhe;jp Njrpa G+q;fh  5. rptfq;if 
 A B C D E 
a. 4 5 2 1 3  
b. 5 4 2 1 3 
c. 5 4 3 2 1 
d. 5 2 4 1 3 
e. tpil njhpatpy;iy 

 
11. The State Disaster Management Authority (SDMA) is headed by  

a. Governor    b. Chief Minister   c. Home Minister  
d. Chief Secretary  e. Answer not known 
khepy Nghplh; Nkyhz;ik Mizaj;jpw;F jiyik tfpg;gth;? 
a. MSeh;   b. Kjyikr;rh;  c. cs;Jiw mikr;rh; 
d. jiyik nrayh;  e. tpil njhpatpy;iy 

 
12. In India Cyclones are tracked through which satellite? 

a. OCEANSAT  b. RISAT   c. IRS   
d. INSAT   e. Answer not known 
,e;jpahtpy; ve;j nraw;iff;Nfhs; topahf Gay;fs; fz;fhzpf;fg;gLfpwd? 
a. OCEANSAT  b. RISAT   c. IRS   
d. INSAT   e. tpil njhpatpy;iy 
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13. Indian Metrological Department (IMD) calls a storm “Super Cyclone” when 
wind blows at a speed ____________ 
a. More than 200 km/hr   b. More than 210 km/hr  
c. More than 220 km/hr    d. More than 250 km/hr 
e. Answer not known 
fhw;W ve;j Ntfj;jpy; tPRk; NghJ ,e;jpa thdpiy Ma;T Jiw (IMD)> Gaiy 
“#g;gh; #whtsp” vd;W miof;fpwJ? 
a. 200 fp.kP / kzp Ntfj;jpw;F Nky; b. 210 fp.kP / kzp Ntfj;jpw;F Nky; 
c. 220 fp.kP / kzp Ntfj;jpw;F Nky; d. 250 fp.kP / kzp Ntfj;jpw;F Nky; 
e. tpil njhpatpy;iy 

 
14. Kurangani Forest Fire happened on ____________ 

a. March, 11, 2018   b. March, 12, 2018  c. March, 13, 2018  
d. March, 14, 2018  e. Answer not known 
Fuq;fdp fhl;Lj; jP tpgj;J eilngw;wJ ____. 
a. 11 khh;r;> 2018  b. 12 khh;r;> 2018  c. 13 khh;r;> 2018   
d. 14 khh;r;> 2018  e. tpil njhpatpy;iy  

 
15. Match the following: 

A. Cyclone Vardah    1. 29 Nov – 6 Dec 2017 
B. Cyclone Ockhi    2. 28 Oct – 1 Nov 2012  
C. Cyclone Thane    3. 18 - 26 Dec 1964 
D. Cyclone Nilam    4. 25 – 29 Nov 2008 
E. Cyclone Nisha    5. 6 - 13 Dec 2016 
F. Rameshwaram Cyclone  6. 25 – 31 Dec 2011 
 A B C D E F 
a. 5 4 2 6 1 3 
b. 5 1 6 4 2 3 
c. 5 1 6 2 4 3 
d. 5 6 1 4 2 3 
e. Answer not known 
nghUj;Jf. 
A. th;jh Gay;   1. 29 etk;gh; - 6 brk;gh; 2017 
B. xf;fp Gay;   2. 28 mf;Nlhgh; - 1 etk;gh; 2012 
C. jhNd Gay;   3. 18 – 26 brk;gh; 1964 
D. epyk; Gay;   4. 25 – 29 etk;gh; 2008 
E. eprh Gay;    5. 6 – 13 brk;gh; 2016 
F. uhNk];tuk; Gay;   6. 25 – 31 brk;gh; 2011 
 A B C D E F 
a. 5 4 2 6 1 3 
b. 5 1 6 4 2 3 
c. 5 1 6 2 4 3 
d. 5 6 1 4 2 3 
e. tpil njhpatpy;iy 
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16. National Disaster Management Authority was enacted on  
a. 23rd Oct 2005  b. 23rd Sep 2005   c. 23rd Nov 2005  
d. 23rd Dec 2005   e. Answer not known 
Njrpa Nghplh; Nkyhz;ik Mizak; Njhw;Wtpf;fg;gl;lJ vg;nghOJ? 
a. 23 mf;Nlhgh; 2005  b. 23 nrg;lk;gh; 2005  c. 23 etk;gh; 2005  
d. 23 brk;gh; 2005  e. tpil njhpatpy;iy 

 

17. Deepest ever place reached by human technology is 
a. Kola Super Hole  b. Burj Khalifa  c. Z-44 Chavyo Well 
d. All of these  e. Answer not known 
kdpj njhopy;El;gj;jhy; milag;gl;l kpf Mokhd gFjp  
a. Nfhyh #g;gh; N`hy; b. GU[; fyp/gh  c. Z -44 rht;nah fpzW  
d. Nkw;fz;l midj;Jk;  e. tpil njhpatpy;iy 

 
18. Match the following 

Rock-cut architecture places States 
A. Mamallapuram   1. Karnataka 
B. Konark    2. Tamilnadu 
C. Aihole, Badami   3. Maharashtra 
d. Ajantha, Ellora   4. Odisha 
 A B C D 
a. 1 2 3 4 
b. 2 4 1 3 
c. 4 2 1 3 
d. 1 3 2 4 
e. Answer not known 
nghUj;Jf: 
A. khky;yGuk;    1. fh;ehlfh  
B. Nfhdhh;f;     2. jkpo;ehL 
C. ma;N`hy;> gjhkp  3. kfhuh~;buh  
D. m[e;jh> vy;Nyhuh  4. xbrh  
 A B C D 
a. 1 2 3 4 
b. 2 4 1 3 
c. 4 2 1 3 
d. 1 3 2 4 
e. tpil njhpatpy;iy 

 
19. Find the incorrect pair 

a. Granite, Basalts and Gypsum – Igneous rocks 
b. Limestone, Coal and Sandstone – Sedimentary rocks 
c. Diamond, marble an clay – metamorphic rocks. 
d. Quartzite, Gneiss, Shicst – Igneous rocks 
e. Answer not known 
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jtwhd ,iziaf; fz;Lgpb.  
a. fpuhidl;> grhy;l; kw;Wk; [pg;rk; - jPg;ghiwfs;  
b. Rz;zhk;G> epyf;fhp kw;Wk; ghiwf;fy; - gbTg;ghiw  
c. ilkd;l;> gspq;Ffy; kw;Wk; fspkz; - cUkhwpag;ghiw  
d. Fthh;l;irl;> eP];> kw;Wk; rp];l; - jPg;ghiwfs;  
e. tpil njhpatpy;iy 

 
20. Match the following 

A. PERMIAN  1. 145 millions years ago 
B. TRIASSIC   2. 200 millions years ago 
C. JURASSIC   3. 65 millions years ago 
D. CRETACEOUS  4. 250 millions years ago 
 A B C D 
a. 4 2 1 3 
b. 1 2 4 3 
c. 2 3 1 4 
d. 1 2 3 4 
e. Answer not known 
gpd;tUtdtw;iwg; nghUj;Jf: 
A. ngh;kpad;    1. 145 kpy;ypad; tUlq;fSf;F Kd;G  
B. biuahrpf;    2. 200 kpy;ypad; tUlq;fs; Kd;G  
C. [{uhrpf;    3. 65 kpy;ypad; tUlq;fs;  Kd;G  
D. fphpNlrpa];  4. 250 kpy;ypad; tUlq;fs; Kd;G  
 A B C D 
a. 4 2 1 3 
b. 1 2 4 3 
c. 2 3 1 4 
d. 1 2 3 4 
e. tpil njhpatpy;iy 
 

21. Find the incorrect statements 
a. Heat received from the sun is insolation. 
b. Outgoing heat from the sun to space is Terrestrial radiation. 
c. Solar energy reflected from the earth is Albedo effect. 
d. None the above  
e. Answer not known 
jtwhd $w;iw fz;Lgpb.  
a. #hpadpypUe;J Gtpia te;jilAk; fjph;fs; #hpa fjph;tPr;R  
b. GtpapypUe;J tpd;ntspf;F nry;Yk; fjph;fs;> Gtp fjph;tPr;R  
c. Gtpapdhy; vjpnuhspf;fg;gLk; #hpa fjph;tPr;R my;gpNlh tpisT MFk;  
d. Nkw;fz;l vJTkpy;iy 
e. tpil njhpatpy;iy 

 
22. Pulicat lake is a _____ 

a. Estuary   b. Lagoon   c. Tombolo   
d. Delta   e. Answer not known 
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Gypf;fhl; Vhp xU _____. 
a. fopKfk;   b. fhay;  c. jPTr;ruiy ,izg;ghij  
d. nly;lh   e. tpil njhpatpy;iy 
 

23. The term Biosphere was coined by ____ in 1875. 
a. Rachael Carson  b. I.G. Simmons  c. Edward Suess  
d. Charles Darwin  e. Answer not known 
1875 Mk; Mz;by;> capu;f;Nfhsk; vd;w thu;j;ij Kjd; Kjyhf    ______ 
vd;gtuhy; mwpKfg;gLj;jg;gl;lJ. 
a. Nur;ry; fhu;rd;  b. I.[p. irkz;];  c. vl;thu;l; Rna];  
d. rhu;y]; lhu;tpd;  e. tpil njhpatpy;iy 

 
24. Mangrove forests of Tamil Nadu are formed in ____. 

I. Pichavaram  II. Muthupet   III. Ramnad 
IV. Gulf of Mannar  V.Punnakayal 
a. I, II, IV   b. I, II, V   c. I, II, IV, V   
d. All of these  e. Answer not known 
jkpo;ehl;by; rJg;Gepyf; fhLfs; vq;F cs;sd? 
I. gpr;rhtuk;   II. Kj;Jg;Ngl;il  III. ,uhkehjGuk; 
IV. kd;dhu;tisFlh  V. Gd;idf;fhay; 
a. I, II, IV   b. I, II, V   c. I, II, IV, V   
d. ,it midj;Jk;  e. tpil njhpatpy;iy 

 
25. To qualify as Bio-diversity hotspot, which of the following criteria must be 

needed? 
I. It must contain atleast 1500 species of endemic plants 
II. It must have lost atleast 70% of its original habitat. 
a. I only   b. II only   c. Both I and II  
d. None of these  e. Answer not known 
Xu; kz;lyk; capupdg; gd;ik tsikakhf fUjg;gLtjw;F vd;ndd;d tpjpfs; 
,Uf;fpd;wd? 
I. Fiwe;jJ 1>500 jdpr;rpwg;G nfhz;l rpw;wpd jhtuq;fisf; nfhz;bUf;f 

Ntz;Lk;. 
II. mt;tplj;jpw;Nf cupa thopl ,og;G 70% nfhz;ljhf ,Uf;f Ntz;Lk;. 
a. I kl;Lk;   b. II kl;Lk;   c. I kw;Wk; II ,uz;Lk; 
d. ,it VJkpy;iy  e. tpil njhpatpy;iy 

 

26. Which of the following are endemic species? 
I. Asiatic Lion  II. Kashmir stag III. Lion Tailed Macaque 
a. I alone  b. I, II    c. III alone   
d. I, II, III  e. Answer not known 
gpd;tUtdtw;Ws; vit tl;lhu rpw;wpdk;? 
I. Mrpa rpq;fk;  II. fh~;kPu; fiykhd;  III. rpq;fthy; Fuq;Ffs; 
a. I kl;Lk;  b. I, II    c. III kl;Lk;   
d. I, II, III  e. tpil njhpatpy;iy 
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27. IUCN [International Union for Conservation of Nature] was founded in ____. 
a. 1964  b. 1968   c. 1974   
d. 1978  e. Answer not known 
“,aw;ifia ghJfhf;Fk; ru;tNjr rq;fk;” (IUCN) vg;NghJ Njhw;wtpf;fg;gl;lJ? 
a. 1964  b. 1968   c. 1974   
d. 1978  e. tpil njhpatpy;iy 
 

28. Khangchendzonga National Park is a _____ 
a. Natural World Heritage site  b. Cultural World Heritage site 
c. Mixed World Heritage site  d. None of these 
e. Answer not known 
fQ;rd;Rq;fh Njrpa G+q;fh xU _____. 
a. ,aw;ifahd cyf ghuk;gupa ,lk; b. fyhr;rhu cyf ghuk;gupa ,lk; 
c. fyg;G cyf ghuk;gupa ,lk;  d. ,tw;wpy; vJTk; ,y;iy 
e. tpil njhpatpy;iy 

 
29. Choose incorrect pair 

a. Project Turtle     - 1999 
b. Project Rhinoceros     - 1987 
c. Operation Crocodile    - 1975 
d. Indian Rhino Vision    - 2025 (target year)  
e. Answer not known 
nghUe;jhjtw;iw Nju;e;njLf. 
a. fly; Mikfs; ghJfhg;Gj; jpl;lk;  - 1999 
b. fhz;lhkpUf ghJfhg;Gj; jpl;lk;  - 1987 
c. Kjiyfs; tsu;g;G ,af;fk;   - 1975 
d. ,e;jpa fhz;lhkpUf ghJfhg;Gj; jpl;lk; - 2025 (Fwpf;Nfhs; Mz;L) 

 
30. Choose the correct statements: 

i. Nutritional density is the ratio between total population and total cropped 
area.  

ii. The total arable land in the world is 12.9%.  
iii. The nutritional density of the world is 325 per sq.km of land.  
a. i, ii   b. i, iii    c. ii, iii   
d. i, ii, iii  e. Answer not known 
rupahd $w;wpid Nju;e;njL. 
i. Cl;lr;rj;J mlu;j;jp vd;gJ nkhj;j kf;fs;njhiff;Fk;. nkhj;j 

gapuplg;gl;l gug;gsTf;Fk; ,ilNaahd tpfpjhr;rhuk;. 
ii. cyfpd; tpisepyk; 12.9%. 
iii. cyfpd; Cl;lr;rj;J mlu;j;jp tPjk; xU rJu fpNyhkPl;lUf;F 325 Ngu;. 
a. i, ii   b. i, iii    c. ii, iii   
d. i, ii, iii  e. tpil njhpatpy;iy 

 
31. The sex ratio of Tamil Nadu is ___________ 

a. 942 females/1000 males   b. 980 females/1000 males  
c. 996 females / 1000 males  d. 1054 females/1000 males 
e. Answer not known 
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jkpo;ehl;bd; ghypd tpfpjk; ____. 
a. 942 ngz;fs;/1000 Mz;fs; b. 980 ngz;fs;/1000 Mz;fs; 
c. 996 ngz;fs;/1000 Mz;fs; d. 1054 ngz;fs;/1000 Mz;fs; 
e. tpil njhpatpy;iy 

 
32. Consider the following statements: 

i. According to UNESCO Institute for statistics, there are 750 million 
illiterate adults, two-thirds of whom are women. 

ii. Sustainable Development Goals 4 and 5 associated with 2030 targets of 
Education and Gender equality respectively. 

a. i, ii correct    b. i only correct   c. ii only correct   
d. i, ii incorrect  e. Answer not known 
gpd;tUk; $w;wpid Muha;f. 
i. And];Nfh Gs;spapay; epWtdk; mspj;j jftypd;gb ,d;Dk; 750 

kpy;ypad; Ngu; vOj;jwptw;wtu;fshf ,Uf;fpd;wdu;. 
ii. 2030-k; Mz;bw;fhd fy;tp ,yf;Ffs; Ngzj;jFe;j Nkk;ghL ,yf;Ffs; 4 

kw;Wk; 5 I milaj; Njitahd nray;fis jPtpukhf Nkw;nfhs;s 
mwpTWj;JfpwJ. 

a. i, ii rup   b. i kl;Lk; rup   c. ii kl;Lk; rup  
d. i, ii jtW   e. tpil njhpatpy;iy 

 
33. Most Anthropologist believe that humans first appeared in the __________ 

a. Great Rift Valley of East   b. River banks on Nile  
c. Indus River valley   d. Yangtze Kiang River valley 
e. Answer not known 
kdpju;fs; Kjypy; Njhd;wpa ,lk; vd;W khDtpayhsu;fs; ek;GtJ? 
a. Mg;gpupf;fhtpd; ngUk; gpsTg; gs;sj;jhf;F  
b. iey; gs;sj;jhf;F 
c. rpe;J ejpg; gs;sj;jhf;F     
d. ahq;rp fpahq; Mw;Wg; gs;sj;jhf;F 
e. tpil njhpatpy;iy 

 

34. Which of the following is/are non-ferrous minerals? 
i) Manganese  ii) Bauxite   iii) Tin   iv) Cobalt 
a. i, ii   b. ii, iii    c. i, iv    
d. ii only  e. Answer not known 
gpd;tUtdtw;Ws; ,Uk;G mw;w fdpkq;fs; vit? 
i) khq;fdP];  ii) ghf;i]l;  iii) nts;sPak; iv) Nfhghy;l; 
a. i, ii   b. ii, iii    c. i, iv    
d. ii kl;Lk;  e. tpil njhpatpy;iy 

 

35. Match the following: 
Iron Ore    Iron Content 
A. Magnetite   1. 72% 
B. Hematite    2. 50% 
C. Limonite    3. 70% 
D. Siderite    4. 30% 
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 A B C D 
a. 1 2 3 4 
b. 1 3 2 4 
c. 3 1 2 4 
d. 3 1 4 2 
e. Answer not known 
nghUj;Jf. 
,Uk;gpd; jhJf;fs;  ,Uk;gpd; msT 
A. Nkf;dill;   1. 72% 
B. N`kill;   2. 50% 
C. ypNkhidl;   3. 70% 
D. rpliul;   4. 30% 
 A B C D 
a. 1 2 3 4 
b. 1 3 2 4 
c. 3 1 2 4 
d. 3 1 4 2 
e. tpil njhpatpy;iy 

 
36. The fool’s gold refers to pyrite of ___________ 

a. Iron Oxide   b. Iron Sulphide   c. Aluminium Oxide 
d. Aluminium Sulphide e. Answer not known 
Kl;lhs;fspd; jq;fk; vd;W miof;fg;gLtJ ____. 
a. ,Uk;G Mf;i]L  b. ,Uk;G ry;/igL  c. mYkpdpak; Mf;i]L 
d. mYkpdpak; ry;/igL e. tpil njhpatpy;iy 

 
37. Which of the following is/are non-renewable sources of energy? 

i) Fossil fuels  ii) Biomass  iii) Natural gas 
iv) Geothermal v) Petroleum  
a. ii, iii   b. ii, iii, iv    c. ii, iv   
d. ii only  e. Answer not known 
gpd;tUtdtw;Ws; GJg;gpf;f ,ayhj tsq;fs; vit? 
i. Gijgbk vupg;nghUl;fs;  ii. capu;thArf;jp 
iii. ,aw;if vupthA   iv. Gtpntg;g Mw;wy; 
v. ngl;Nuhypak; 
a. ii, iii   b. ii, iii, iv    c. ii, iv   
d. ii kl;Lk;  e. tpil njhpatpy;iy 

 
38. Choose the incorrect statements about Bituminous coal? 

i. It is called as Brown coal 
ii. It is the most widely spread and most widely used variety of coal  
iii. It is the most popular coal in commercial use  
a. i and ii   b. ii and iii   c. i only   
d. i and iii   e. Answer not known 
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gpl;Lkpd]; epyf;fup gw;wpa jtwhdf; $w;wpidj; Nju;e;njL. 
i. ,J gOg;G epyf;fup vdTk; miof;fg;gLfpd;wJ.  
ii. ,t;tif epyf;fup gutyhff; fhzg;gLtNjhL gutyhf 

gad;gLj;jg;gLfpd;wJ. 
iii. ,J tzpf uPjpapyhd gad;ghl;by; kpfTk; gpugykhd epyf;fup. 
a. i kw;Wk; ii   b. ii kw;Wk; iii  c. i kl;Lk;  
d. i kw;Wk; iii   e. tpil njhpatpy;iy 

 
 
39. Which of the following is/are correctly matched regarding nuclear accidents? 

i. Three mile island - March 28, 1979 
ii. Chernobyl   - April 21, 1986  
iii. Fukushima Daiich - March 11, 2011 
a. i, ii and iii   b. i and ii   c. i and iii   
d. ii and iii   e. Answer not known 
gpd;tUtdtw;Ws; mZrf;jp tpgj;Jfs; gw;wp rupahfg; nghUe;jpait vit? 
i. %d;W iky; jPT - khu;r; 28> 1979 
ii. nru;Ndhgpy;  - Vg;uy; 21> 1986 
iii. GF~pkh lha;r;rp - khu;r; 11> 2011 
a. i, ii kw;Wk; iii  b. i kw;Wk; ii   c. i kw;Wk; iii   
d. ii kw;Wk; iii   e. tpil njhpatpy;iy 

 
40. Which one of the following is not a Renewable sources of Energy? 

a. Geothermal  b. Bio-Gas    c. Natural Gas  
d. Tidal Energy   e. Answer not known 
gpd;tUtdtw;Ws; GJg;gpf;ff;$ba Mw;wy; tsk; my;yhjJ? 
a. Gtpntg;g Mw;wy;  b. capupthA   c. ,aw;if thA  
d. Xj Mw;wy;   e. tpil njhpatpy;iy 

 
41. India’s largest wind farm is located at _________ 

a. Kamuthi   b. Vadodara     c. Muppandal 
d. Aralvazhmozhi  e. Answer not known 
,e;jpahtpd; kpfg;ngupa fhw;whiyg; gz;iz mike;Js;s ,lk;? 
a. fKjp   b. tNjhjuh    c. Kg;ge;jy;  
d. Muy;tha;nkhop  e. tpil njhpatpy;iy 

 

42. The India cultural realm is called as paddy culture by 
a. D. Stamp   b. Baker    c. Weber    
d. Carl Ritter    e. Answer not known 
,e;jpa fyhr;rhuj;ij ney; fyhr;rhuk; vd;W mioj;jth; ahh;? 
a. b. ];lhk;g;   b. Ngf;fh;   c. ntgh;   
d. fhh;y; hpl;lh;  e. tpil njhpatpy;iy 

 

43. Which of the following culture is basically a Buddhist culture with regional 
modifications? 
a. Occidental Realm    b. India Cultural Realm 
c. South-East Asian Culture  d. East Asian Culture 
e. Answer not known 
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gpd;tUk; ve;j fyhr;rhuk; tl;lhu khw;wq;fSld; mbg;gilapy; ngsj;j 
fyhr;rhuj;ijf; nfhz;Ls;sJ? 
a. Nkiy fyhr;rhu kz;lyk;  b. ,e;jpa fyhr;rhu kz;lyk; 
c. njd;fpof;F Mrpa fyhr;rhu kz;lyk; d. fpof;F Mrpa fyhr;rhu kz;lyk; 
e. tpil njhpatpy;iy 

 

44. The largest tribal group in India is  
a. Nagas   b. Todas     c. Santhals    
d. Gonds  e. Answer not known 
,e;jpahtpd; kpfg;nghpa goq;Fbapd FO?  
a. ehfh;fs;  b. Njhlh;fs;    c. rhe;jyh;fs;   
d. Nfhd;Lfs;  e. tpil njhpatpy;iy 

 
45. Choose the correct statements about Bhils tribal group 

i. They are popularly known as the bowman of Rajasthan  
ii. The longest tribal group in India 
iii. It is divided into two main groups  
a. i, ii and iii   b. i and ii   c. i and iii   
d. ii and iii   e. Answer not known 
gpy;];fs; goq;Fb ,df;FO njhlh;ghd thf;fpaq;fspy; rhpahdij Njh;T nra;f.  
i. gpy;]; uh[];jhdpd; gpugykhd tpy;kdpjh;fs; vd mwpag;gLfpwhh;fs;.  
ii. ,e;jpahtpd; kpf ePz;l goq;Fbapdf; FOthFk;.  
iii. ,J ,uz;L Kf;fpa FOf;fshfg; gphpf;fg;gLfpwJ  
a. i, ii kw;Wk; iii  b. i kw;Wk; ii    c. i kw;Wk; iii   
d. ii kw;Wk; iii   e. tpil njhpatpy;iy 

 
46. Which of the following statements about Bhutia tribal group is/are correct? 

i. Bhutia tribes are of the Nepal origin. 
ii. In Sikkim, they are known as Manji. 
iii. Bhutia forms 14% of the total population of Sikkim.  
a. i, ii and iii   b. i and ii   c. i and iii   
d. ii and iii   e. Answer not known 
G+l;bah goq;Fbapdh; Fwpj;j $w;Wfspy; vJ / vit rhpahdJ. 
i. G+l;bah goq;Fbapdh; Neghs tk;rhtspiar; Nrh;e;jth;fs;  
ii. rpf;fpkpy;> mth;fs; kQ;rp vd;W miof;fg;gLfpwhh;fs;  
iii. G+l;bah rpf;fpkpd;; nkhj;j kf;fs; njhifapy; 14% Mth;.  
a. i, ii kw;Wk; iii  b. i kw;Wk; ii    c. i kw;Wk; iii   
d. ii kw;Wk; iii   e. tpil njhpatpy;iy 
 

47. Which of the following statements about Sentinalese tribal group is/are correct? 
i. The most dangerous tribe in the world. 
ii. They practise hunting and agriculture. 
iii. They would be described as Vedic Age people.  
iv. The population of North Sentinel Island is estimated at 250 individuals.  
a. i, ii, iv    b. i, ii, iii   c. i and iv only  
d. all the above  e. Answer not known 
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nrd;bdy;]; goq;Fbapdh; Fwpj;j $w;Wfspy; vJ / vit rhpahdJ? 
i. cyfpd; kpf Mgj;jhd goq;Fbapdh;  
ii. Ntl;ilahLgth;fshfTk;> Ntshz;ik nra;gth;fshfTk; ,Uf;fpd;wdh;.  
iii. mth;fs; Ntj fhy kf;fs; vd tpthpf;fg;gLthh;fs; 
iv. tlf;F nrz;bdy; jPtpd; kf;fs; njhifahdJ 250 Ngh; vd 

kjpg;gplg;gl;Ls;sJ.  
a. i, ii, iv    b. i, ii, iii   c. i & iv kl;Lk;  
d. ,it midj;Jk;  e. tpil njhpatpy;iy 

 
48. Which of the following tribe mainly inhabit in the region of Jharkhand? 

a. Bhils   b. Santhals    c. Munda    
d. Khasi  e. Answer not known 
Kf;fpakhf [hh;f;fz;l; gFjpapy; trpf;Fk; goq;Fbapdh; gpd;tUgth;fspy; ahh;?  
a. gpy;];;fs;  b. rhe;jyh;fs;  c. Kz;lh   
d. fhrp   e. tpil njhpatpy;iy 

 
49. Choose the correct statements: 

i. Tribes of Tamil Nadu are concentrated mainly in the district of Nilgiris.  
ii. There are around 38 tribes and sub tribes in Tamil Nadu.  
a. i, ii   b. i only   c. ii only   
d. none  e. Answer not known 
rhpahd thf;fpaq;fis Njh;T nra;f.  
i. jkpo;ehl;by; goq;Fbapdh;fs; ePyfphp khtl;lj;jpy; Kjd;ikahf 

fhzg;gLfpd;wdh; 
ii. jkpo;ehl;by; Rkhh; 38 goq;Fbapdh; kw;Wk; Jiz goq;Fbapd FOf;fs; 

cs;sdh;.  
a. i, ii    b. i kl;Lk;   c. ii kl;Lk;   
d. vJTkpy;iy  e. tpil njhpatpy;iy 

 
50. Which of the following tribes implement elaborate tattoos for maintaining 

distance and status in society? 
a. Kotas   b. Kurumbas    c. Paliyans    
d. Todas   e. Answer not known 
rKjhaj;jpy; jq;fis NtWgLj;jpf; fhl;Ltjw;fhf ve;j goq;Fbapd kf;fs; nghpa 
mstpy; gr;ir Fj;jpf; nfhs;fpwhh;fs;?  
a. Nfhlhf;fs; b. FUk;gh;fs;   c. ghypahd;    
d. Njhlh;fs;  e. tpil njhpatpy;iy 

 
51. Which of the following tribal groups are the food gathering communities of 

Tamil Nadu? 
a. Badagas  b. Kotas     c. Paliyan   
d. Kurumbas  e. Answer not known 
gpd;tUgth;fspy; jkpo;ehl;by; czT Nrfhpf;Fk; r%fj;ijr; Nrh;e;j goq;Fbapdh; 
ahh;?  
a. gLfh;fs;   b. Nfhlh    c. ghypahd;   
d. FUk;gh;fs;  e. tpil njhpatpy;iy 
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52. The languages of the world was classified into 7 linguistic phylum and 30 
linguistic families by  
a. Merritt Ruhlen  b. Joseph H Greenberg  c. GL Trage   
d. Cavalli – Sforza  e. Answer not known 
cyf nkhopfis 7 nkhopj;njhFjp kw;Wk; 30 nkhopf; FLk;gq;fshf 
tifg;gLj;jpAs;sth; ahh;?  
a. nkhpl;U`;yd;  b. N[hrg; vr; fphPd;ngh;f;   c. [p.vy;. l;Nu[; 
d. fhty;yp-];/Nghh;]h  e. tpil njhpatpy;iy 

 
53. Choose the incorrectly matched pair/s: 

i. 21st Amendment Act - 1967 
ii. 71st Amendment Act  - 1991 
iii. 92nd Amendment Act  - 2003 
a. i and ii  b. ii only    c. iii only   
d. none  e. Answer not known 
jtwhd ,iziaj; Njh;T nra;f.  
i. 21-tJ murpayikg;g rl;ljpUj;jk;  - 1967 
ii. 71-tJ murpayikg;G rl;ljpUj;jk;  - 1991  
iii. 92-tJ murpayikg;g rl;ljpUj;jk;  - 2003  
a. i kw;Wk; ii  b. ii kl;Lk;    c. iii kl;Lk;   
d. vJTkpy;iy  e. tpil njhpatpy;iy 

 
54. Which of the following is/are incorrectly matched? 

Linguistic Family  Languages  
i. Austric  - Munda, Mon-Khmer  
ii. Sino-Tibetan   - Bodo, Karen, Manipuri 
iii. Indo-Aryan  - Hindi, Urdu 
a. i and ii only  b. iii only   c. ii only   
d. none   e. Answer not known 
jtwhd ,iziaj; Njh;T nra;f.  
nkhopf; FLk;gk;   nkhop  
i. M];l;hpf;   - Kz;lh> Nkhd; - fpkph;  
ii. irNdh – jpngj;jpa  - NghNlh> fhPd;> kzpg;g+hp 
iii. ,;e;Njh – Mhpa  - `pe;jp> cUJ  
a. i kw;Wk; ii    b. iii kl;Lk;   c. ii kl;Lk;   
d. vJTkpy;iy   e. tpil njhpatpy;iy 

 
55. Who is the father of population geography? 

a. Trewartha   b. Benitton Suess  c. Stephen Hawking  
d. Deni Thomas  e. Answer not known 
kf;fs; Gtpapaypd; je;ij ahh;?  
a. j;hpth;j;jh    b. ngdpl;ld; #];   c. ];Bgd; `hf;fpd;]; 
d. Nldp jhk];   e. tpil njhpatpy;iy 

 

56. The total percentage of Nutritional density of India is  
a. 753/sq.km   b. 855/sq.km   c. 783/sq.km   
d. 752/sq.km   e. Answer not known 
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,e;jpahtpy; Cl;lr;rj;J mlh;j;jpapd; nkhj;j rjtPjk; vt;tsT?  
a. 753 / rJu.fp.kP  b. 855 / rJu.fp.kP  c. 783 /rJu.fp.kP  
d. 752 /rJu.fp.kP  e. tpil njhpatpy;iy 

 

57. Which country ranks highest in Nutritional density 
a. India  b. Singapore   c. America   
d. Marutius  e. Answer not known 
ve;j ehL Cl;lr;rj;J mlh;j;jpapy; Kjy; ,lj;jpy; cs;sJ?  
a. ,e;jpah  b. rpq;fg;G+h;   c. mnkhpf;fh   
d. nkhhPrpa];  e. tpil njhpatpy;iy 

58. The formula for net migration rate is 
a. N = 1000 х (I - P) / E b. N = 100 х (I - E) / P c. N = 1000 х (I - E) / P 
d. N = 100 х (I - P) / E e. Answer not known 
epfu Gyg;ngah;Tf;fhd tpfpj #j;jpuk;  
a. N = 1000 х (I - P) / E b. N = 100 х (I - E) / P c. N = 1000 х (I - E) / P 
d. N = 100 х (I - P) / E e. tpil njhpatpy;iy 

 
59. According to 2011 census, tribal population in Tamilnadu is about? 

a. 7, 94, 697  b. 8, 94, 697   c. 7, 96, 647   
d. 8, 96, 647  e. Answer not known 
2011 Mk; Mz;L fzf;nfLg;gpd;gb> jkpo;ehl;bYs;s goq;Fbapd kf;fs;njhif 
vt;tsT?  
a. 7, 94, 697  b. 8, 94, 697   c. 7, 96, 647   
d. 8, 96, 647  e. tpil njhpatpy;iy 

 

60. Which is the World’s first republic? 
a. USA   b. UK    c. Vaishali   
d. Renigunta   e. Answer not known 
cyfpd; Kjy; FbauR vJ?  
a. USA   b. UK    c. itrhyp  
d. NuzpFz;lh   e. tpil njhpatpy;iy 

 

61. An integrated discipline encompassing some branches of art, science and 
technology of collecting information about the terrestrial objects using camera 
and sensor system is? 
a. Geo informatics    b. Remote sensing 
c. Geographic Information System d. Spatial information 
e. Answer not known 
Nfkuh kw;Wk; czh;tpia gad;gLj;jp epyj;jpy; cs;s nghUl;fisg; gw;wpa 
jfty;fis Nrfhpf;Fk; fiy> mwptpay; kw;Wk; njhopy; El;gj;jpd; rpy fpisfis 
cs;slf;fpa xUq;fpize;j mikg;G vJ?  
a. Gtp jftypay;    b. njhiy czh;jy; 
c. Gtpapay; jfty; mikg;G   d. ,lk;rhh; jftypay;  
e. tpil njhpatpy;iy 

 

62. Which GNSS was nicknamed as “Michibiki” is? 
a. BEIDOU  b. QZSS   c. GALILEO  
d. GPS  e. Answer not known 
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ve;j [pvd;v];v]; "kpr;rpgpfp' vd;w nry;yg;ngah; ngw;wJ?  
a. BEIDOU  b. QZSS   c. GALILEO  
d. GPS  e. tpil njhpatpy;iy 

 

63. Which is the world’s fastest supercomputer and how much calculations are done 
per second? 
a. Sunway Taihulight, 87 petaflops 
b. Summit, 200 petaflops 
c. Sunway Taihulight, 200 petaflops 
d. Summit, 87 petaflops 
e. Answer not known 
cyfpd; mjpNtf #g;gh; fk;g;A+l;lh; vJ> mJ tpdhbf;F vt;tsT fzf;fPLfis 
Nkw;nfhs;fpwJ? 
a. rd;Nt ijFiyl;> 87 ngl;lhgpshg;fs;  
b. rk;kpl;> 200 ngl;lhgpshg;fs;  
c. rd;NtijFiyl;> 200 ngl;lhgpshg;fs;  
d. rk;kpl;> 87 ngl;lhgpshg;fs;  
e. tpil njhpatpy;iy 

 
64. IRNSS provides location information service to users in India and the region 

extending from Indian boundary for upto? 
a. 2300 km  b. 2000 km   c. 1000 km   
d. 1,500 km  e. Answer not known 
I.Mh;.vd;.v];.v]; ,e;jpahtpYk;> ,e;jpa gFjpapYs;s gadh;fSf;Fk; ,Ug;gpl 
jfty; Nritia mspf;fpwJ> ,J ,e;jpa vy;iyapy; ,Ue;J vt;tsT fp.kPf;F 
jdJ Nritia toq;FfpwJ?  
a. 2300 fp.kP  b. 2000 fp.kP   c. 1000 fp.kP   
d. 1>500 fp.kP  e. tpil njhpatpy;iy 

 
65. The Brundtland Commission submitted its report entitled? 

a. Triple bottom line, 1987   b. Our common future 1985 
c. Our common future, 1987  d. Triple bottom line 1985 
e. Answer not known 
g;&l;Nyz;l; FO jdJ mwpf;ifia ve;j jiyg;Gld; rkh;g;gpj;jJ? 
a. %d;W mbj;js NfhL> 1987  b. ekJ nghJthd vjph;fhyk;> 1985 
c. ekJ nghJthd vjph;fhyk;> 1987 d. %d;W mbj;js NfhL> 1985  
e. tpil njhpatpy;iy 
 

66. The term “Sustainable development” was introduced by 
a. 1972 Stockholm UN conference      b. IUCN 1980 
c. 1987 Brundtland Report       d. 1962 Modern Environment Conference 
e. Answer not known 
"epiyahd ePbj;j tsh;r;rp" vd;w thh;j;ijia mwpKfg;gLj;jpaJ vJ?  
a. 1972> ];lhf;N`hk;> I.eh. khehL  
b. IUCN, 1980 
c. 1987> g;&l;Nyz;l; mwpf;if  
d. 1962> etPd Rw;Wr;#oy; khehL  
e. tpil njhpatpy;iy 
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67. To address climate change, countries adopted Paris Agreement at ___ and when? 
a. COP 21, 21 December 2015 b. COP 22, 12 December 2015 
c. COP 21, 12 December 2015 d. COP 21, 13 December 2015 
e. Answer not known 
fhyepiy khw;wj;jpw;F jPh;T fhz> midj;J ehLfSk; Vw;Wf;nfhz;l ghhp]; 
xg;ge;jj;jpd; ngah; vd;d kw;Wk; mJ vg;nghOJ Vw;Wf;nfhs;sg;gl;lJ?  
 
a. COP 21, 21 brk;gh; 2015  b. COP 22, 12 brk;gh;  2015 
c. COP 21, 12 brk;gh; 2015  d. COP 21, 13 brk;gh;  2015 
e. tpil njhpatpy;iy 

 
68. When was Environmental Impact Assessment in India was introduced and on 

which project? 
a. 1978, River Valley Project  b. 1988, Dam Projects 
c. 1978, drought prone area project d. 1988, Recharge pits projects 
e. Answer not known 
,e;jpahtpy; Rw;Wr;#oy; jhf;f kjpg;gPL vg;nghOJ ve;j jpl;lq;fSf;fhf 
mwpKfg;gLj;jg;gl;lJ?  
a. 1978> Mw;W gs;sj;jhf;F jpl;lk;  b. 1988> miz jpl;lq;fs;  
c. 1978> twl;rp ghjpg;G gFjp jpl;lk; d. 1988> kWT+l;l Fopfs; jpl;lk;  
e. tpil njhpatpy;iy 

 
69. Which of the Manmade disaster was the 3rd leading cause of unintentional injury 

death worldwide? 
a. Drowning   b. Fire Accident  c. Industrial disaster 
d. Road accident  e. Answer not known 
cyfstpy; kdpjd; nra;j Nguoptpdhy;> jw;nrayhf fhakile;jthpd; kuzj;jpw;F 
3-tJ Kf;fpa fhuzk; vJ?  
a. ePhpy; %o;Fjy;   b. jP tpgj;J   c. njhopy;Jiw NguopT  
d. rhiy tpgj;J   e. tpil njhpatpy;iy 

 

70. Consider the following Statements   
1. In 2016 India was the largest country of origin of International migrants (16 

Million) 
2. Trans Humance is a seasonal migration  
3. India is projected to add 406 million urban dwellers in near future 
4. By 2050 68% of world's population to be urban. 
5. Delhi's population is about 26 million 
a. All are correct   b. All are wrong   c. 1, 2, 4 alone correct   
d. 1, 3, 5 is wrong   e. Answer not known 
gpd;tUk; $w;Wfis fUj;jpy; nfhs;f. 
1. 2016 Mk; Mz;by; ru;tNjr Gyk;ngau;tpy; ,e;jpa kpfg; ngupa ehlhf (16 

kpy;ypad;) cs;sJ. 
2. fhy;eilAld; ,lk;ngau;T gUtfhy ,lk;ngau;T vdTk; miof;fg;gLfpwJ. 
3. ,e;jpah 406 kpy;ypad; efu;g;Gw kf;fs; njhifahf mjpfupf;Fk; vd 

fzf;fplg;gl;Ls;sJ. 
4. 2050 ,y; cyfpd; kf;fs; njhifapy; 68 rjtPjk; efu kf;fs; njhifahf 

caUk; vdf; fzf;fplg;gl;Ls;sJ. 
5. GJjpy;ypapd; kf;fs;njhif 26 gpy;ypad; MFk;. 
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a. midj;Jk; rhp  b. midj;Jk; jtW   c. 1> 2> 4 kl;Lk; rhp 
d. 1> 3> 5 jtW  e. tpil njhpatpy;iy 

 
71. The seismic zones in India was grouped by  

a. National Institute of Disaster Management  
b. Indian Meterological Department 
c. National Institute of Hydrology  
d. Bureau of Indian Standards 
e. Answer not known 
fPo;f;fz;l ve;j mikg;G ,e;jpahtpd; epymjpu;T kz;lyq;fis 
tifg;gLj;jpAs;sJ? 
a. Njrpa Nguplu; Nkyhz;ik epWtdk; 
b. ,e;jpa thdpiy Ma;T Jiw 
c. Njrpa ePupay; epWtdk; 
d. ,e;jpa juepu;za epWtdk; 
e. tpil njhpatpy;iy 

 
72. Match the following  

A. Chinook   1. Heat wave 
B. Sirocco   2. Snow Eater 
C. Harmattan  3. Blood rain 
D. Loo    4. Doctor wind  
 A B C D 
a. 1 2 3 4 
b. 2 3 4 1 
c. 3 4 1 2 
d. 4 3 1 2 
e. Answer not known 
nghUj;Jf. 
A. rpD}f;   1. ntg;g miy 
B. rpuhf;Nfh   2. ntk;gdp cz;Zk;fhw;W 
C. `u;khl;ld;  3. rptg;G (FUjp) kio 
D. Y}    4. kUj;Jtfhw;W 
 A B C D 
a. 1 2 3 4 
b. 2 3 4 1 
c. 3 4 1 2 
d. 4 3 1 2 
e. tpil njhpatpy;iy 

 
73. Find out the incorrect pair. 

a. Primary Economic Activities   - Raw Cotton Production 
b. Secondary Economic Activities   - Spinning mill 
c. Quaternary Activities    - Banking Sector 
d. Quinary Activities    - Doctors & Teachers 
e. Answer not known 
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jtwhd $w;iw Njh;;e;njLf;fTk;. 
a. Kjy;epiy nghUshjhu eltbf;if  - %y gUj;jp cw;gj;jp 
b. ,uz;lhk; epiy nghUshjhu eltbf;if  - E}w;ghiyfs; 
c. ehd;fhk; epiy nghUshjhu eltbf;if   - tq;fpj;Jiw 
d. Ie;jhk; epiy nghUshjhu eltbf;if  - kUj;Jth;fs; & Mrphpah;fs; 
e. tpil njhpatpy;iy 
 

 

74. Match the following  
A. Kanjirankulam Birds Sanctuary  1. Thiruvarur 
B. Udayamarthandapuram Birds Sanctuary 2. Villupuram 
C. Karikilli Birds Sanctuary   3. Ramanathapuram 
D. Oussudu Lake Birds Sanctuary   4. Kanchipuram 
 A B C D 
a. 2 4 3 1  
b. 4 3 1 2  
c. 3 1 4 2  
d. 4 3 2 1  
e. Answer not known 
nghUj;Jf: 
A. fQ;rpuq;Fsk; gwitfs; ruzhyak;  1. jpUth&h; 
B. cjakhh;j;jhz;lGuk; ruzhyak;  2. tpOg;Guk; 
C. fupf;fpsp gwitfs; ruzhyak;   3. ,uhkehjGuk; 
D. CRL Vhp gwitfs; ruzhyak;  4. fhQ;rpGuk; 
 A B C D 
a. 2 4 3 1  
b. 4 3 1 2  
c. 3 1 4 2  
d. 4 3 2 1  e. tpil njhpatpy;iy 

 

75. Match the following  
Rivers    Tributaries 
A. Palar   1. Pambar 
B. Thamirabarani  2. Siruliar 
C. Then Ponnaiyar  3. Kiliyar 
D. Vaigai   4. Chittar 
 A B C D 
a. 3 4 1 2  
b. 4 2 1 3  
c. 2 3 1 4  
d. 3 4 2 1  
e. Answer not known 
nghUj;Jf  
MWfs;    Jiz MWfs; 
A. ghyhW   1. ghk;ghW 
B. jhkpuguzp   2. RUsp MW 
C. njd;ngz;izahW 3. fpspahW 
D. itif   4. rpw;whW 
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 A B C D 
a. 3 4 1 2  
b. 4 2 1 3  
c. 2 3 1 4  
d. 3 4 2 1 
e. tpil njhpatpy;iy  
 

76. Find out the Incorrect statement. 
1. Namakkal, Salem, Karur, Erode and Coimbatore forms the Poultry hub of 

Tamil Nadu. 
2. The state has three major fishing harbours, three medium fishing harbours 

and 369 fish landing centres. 
a. 1 only   b. 2 only   c. Both 1 & 2 are incorrect  
d. None of these  e. Answer not known 
jtwhd $w;iw fz;Lg;gpbf;fTk;. 
1. ehkf;fy;> Nryk;> f&h;> <NuhL kw;Wk; Nfhak;Gj;J}h; Mfpa khtl;lq;fspy; 

Nfhopg;gz;iz njhFg;Gfs; 
2. jkpo;ehL %d;W Kf;fpa kPd;gpbj; JiwKfq;fs;> %d;W ,ilepiy 

kPd;gpbj;JiwKfk; kw;Wk; 369 kPd;gpbj;jsq;fisf; nfhz;Ls;sJ. 
a. 1 kl;Lk;   b. 2 kl;Lk;   c. 1 kw;Wk; 2 jtW      
d. vJTkpy;iy  e. tpil njhpatpy;iy 

 
77. Assertion (A) : Coimbatore, Erode and Salem region is referred as “Textile valley 

of Tamil Nadu. 
Reason (R)     : The above region contributes a major share to the state’s  economy 
through textiles. 
a. (A) is false but (R) is true 
b. Both (A) and (R) are correct and (R) is the correct explanation of (A). 
c. (A) is true but (R) is false 
d. Both (A) and (R) are correct but (R) is not the correct explanation of (A). 
e. Answer not known 
$w;W (A)  : Nfhak;Gj;J}h;> <NuhL> Nryk; khtl;lq;fs; jkpo;ehl;bd; [Tsp 
gs;sj;jhf;F vdf; Fwpg;gplg;gLfpwJ. 
fhuzk; (R) : Nkw;fz;l khtl;lq;fs; nerTj;njhopy; %yk; khepy 
nghUshjhuj;jpw;F Kf;fpa gq;fspg;ig mspf;fpd;wd. 
a. (A) jtW Mdhy; (R) rhp. 
b. (A) kw;Wk; (R) ,uz;Lk; rhp> NkYk; (R)> (A) tpw;fhd rhpahd tpsf;fkhFk;. 
c. (A) rhp Mdhy; (R) jtW. 
d. (A) kw;Wk; (R) ,uz;Lk; rhp> Mdhy; (R)> (A) tpw;fhd rhpahd tpsf;fky;y. 
e. tpil njhpatpy;iy 

 
78. Arrange the following districts in decreasing order of literacy rate in Tamil 

Nadu? 
1. Dharmapuri  2. Kanchipuram  3. Thoothukudi  
4. Nilgiris   5. Chennai   6. Kanyakumari 
a. 6, 3, 5, 4, 2, 1  b. 5, 6, 4, 2, 3, 1  c. 4, 6, 2, 5, 3, 1  
d. 6, 5, 3, 4, 2, 1   e. Answer not known  
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gpd;tUk; khtl;lq;fis fy;tpawpT tpfpjj;jpd; mbg;gilapy; ,wq;F 
thpirg;gLj;jTk; 
1. jUkGhp   2. fhQ;rpGuk;  3. J}j;Jf;Fb  
4. ePyfphp   5. nrd;id  6. fd;dpahFkhp 
a. 6, 3, 5, 4, 2, 1  b. 5, 6, 4, 2, 3, 1  c. 4, 6, 2, 5, 3, 1 
d. 6, 5, 3, 4, 2, 1   e. tpil njhpatpy;iy 
  

79. Which of the following districts that were not affected by Cyclone? 
1. Trichy   2. Sivagangai  3. Thirunelveli  
4. Villupuram  5. Tiruvarur 
a. 1, 3, 5 only   b. 2, 3 only   c. 1, 2 only   
d. 2, 3, 5 only   e. Answer not known 
gpd;tUk; ve;j khtl;lq;fs; Gayhy; ghjpg;gpw;Fs;shfhj khtl;lq;fs;? 
1. jpUr;rp   2. rptfq;if  3. jpUney;Ntyp 
4. tpOg;Guk;   5. jpUth&h; 
a. 1, 3, 5 kl;Lk;  b. 2, 3 kl;Lk;   c. 1, 2 kl;Lk;  
d. 2, 3, 5 kl;Lk;  e. tpil njhpatpy;iy 
 

80. Consider the following statements. 
1. Dispersed settlements are found in extreme climate, hill tracts thick forests 

etc. 
2. Houses are built very close to each other. 
3. In India, found in Nilgiris, Thar desert. 
Which of the following are correct? 
a. 1 only  b. 1, 2 only   c. 1, 3 only 
d. All   e. Answer not known 
gpd;tUk; $w;Wfis Ma;f. 
1. rpjwpa FbapUg;Gfis mjpf ntg;gg; gFjpfspYk;> kiyg;ghijfspYk;> 

mlh;e;j fhLfspYk; fhzyhk;. 
2. tPLfs; ,ilntspapd;wp fl;lg;gl;bUf;Fk;. 
3. ,e;jpahtpy; ePyfphpapYk; jhh; ghiytdj;jpYk; fhzg;gLfpd;wd. 
gpd;tUtdtw;Ws; rhpahdit vit? 
a. 1 kl;Lk;  b. 1> 2 kl;Lk;  c. 1> 3 kl;Lk; 
d. midj;Jk; e. tpil njhpatpy;iy 

 
81. Consider the following statements. 

1. Satellite towns are designed to house the over population of a major city. 
2. It is located well within the city. 
3. In India, they are mostly satellite towns are purely residential in character. 
Which of the following above are correct? 
a. 1 only   b. 1, 3 only    c. 1, 2 
d. All    e. Answer not known 
gpd;tUk; $w;Wfis Ma;f. 
1. ngUefuq;fspd; mjpf kf;fs; njhifia Fbakh;j;j nraw;iff;Nfhs; 

efuq;fs; tbtikf;fg;gLk;. 
2. ,it efuq;fSf;F cs;Ns mike;jpUf;Fk;. 
3. ,e;jpahtpy; ngUk;ghyhd nraw;iff;Nfhs; efuq;fs; FbapUg;Gg; gFjpfshf 

cs;sd. 
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Nkw;$wpatw;wpy; rhpahdit vit? 
a. 1 kl;Lk;   b. 1> 3 kl;Lk;    c. 1> 2 kl;Lk; 
d. midj;Jk;  e. tpil njhpatpy;iy 
 

82. Arrange the following in terms of size. 
1. City   2. Megapolis  3. Metropolis  4. Conurbation 
Which of following are correct? 
a. 4, 1, 3, 2  b. 1, 3, 4, 2   c. 2, 1, 3, 4 
d. 3, 1, 2, 4  e. Answer not known 
gpd;tUtdtw;iw mtw;wpd; msitg; nghWj;J thpirg;gLj;Jf. 
1. khefuk;  2. kPg;ngUefh;  3. ngUefuk;  4. ,ize;j efuk; 
gpd;tUtdtw;wpy; rhpahdit vit? 
a. 4, 1, 3, 2  b. 1, 3, 4, 2   c. 2, 1, 3, 4 
d. 3, 1, 2, 4  e. tpil njhpatpy;iy 
 

83. Choose correctly matched pair. 
1. Sri Sailam dam – Andhra Pradesh 
2. Nagarjuna Sagar dam – Karnataka 
3. Sardar Sarovar dam – Maharashtra 
4. Bhakra Nangal dam – Haryana 
Which of the following are correct? 
a.1, 2    b. 1, 2, 3   c. 1 only 
d. All    e. Answer not known 
rhpahf nghUe;jpAs;s ,izfisf; fz;lwpf. 
1. =iryk; miz  - Me;jpug;gpuNjrk; 
2. ehfh;[_d rhfh; miz - fh;ehlfh 
3. rh;jhh; rNuhth; miz - kfhuh~;buh 
4. gf;uheq;fy; miz - `hpahdh 
gpd;tUtdtw;wpy; rhpahdit vit? 
a. 1> 2    b. 1> 2> 3   c. 1 kl;Lk; 
d. midj;Jk;  e. tpil njhpatpy;iy 
 

84. The bauxite deposits are mainly found in 
a. Kalvarayan hills – Villupuram 
b. Servarayan hills – Salem 
c. Pachamalai hills – Perambalur 
d. Kolli hills – Namakkal 
e. Answer not known 
ghf;i]l; jhJf;fs; ngUk;ghYk; vq;F fhzg;gLfpd;wd? 
a. fy;tuhad; kiy – tpOg;Guk; 
b. Nrh;tuhad; kiy – Nryk; 
c. gr;irkiy – nguk;gY}h; 
d. nfhy;ypkiy – ehkf;fy; 
e. tpil njhpatpy;iy 
 

85. Gastronomy refers to an aspect of  
a. Religious tourism  b. Historical tourism c. Cultural tourism 
d. Recreational tourism e. Answer not known 
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‘fh];l;Nuhdkp’ vd;gJ vjd; mk;rk;? 
a. rkar; Rw;Wyh  b. tuyhw;Wr; Rw;Wyh c. fyhr;rhur; Rw;Wyh 
d. nghOJNghf;Fr; Rw;Wyh e. tpil njhpatpy;iy 

 
86. Choose correctly matched pair. 

1. Vaishnava devi temple – Uttarakhand 
2. St. Francis Xavier Cathedral – Kerala 
3. Sarnath – Bihar 
Which of the above are correct? 
a.1, 2 only   b. 1, 3    c. All 
d. None   e. Answer not known 
rhpahf nghUe;jpAs;s ,izfisf; fz;lwpf. 
1. it~;ztp Njtp Nfhtpy; - cj;jufz;l; 
2. nrapz;l; gpuhd;]p]; Nrtpah; Njthyak; - Nfush  
3. rhuehj; - gPfhh; 
Nkw;fz;ltw;Ws; rhpahdit vit? 
a. 1> 2 kl;Lk;   b. 1> 3 kl;Lk;  c. midj;Jk; 
d. vJTkpy;iy  e. tpil njhpatpy;iy 

 
87. Choose correctly matched pair. 

1. Jog – Karnataka 
2. Nohkalikai – Tiripura 
3. Talakona – Chhattisgarh 
4. Aathirapally – Kerala 
Which of the following are correct? 
a. 1, 4   b. 1, 2, 4   c. 1, 3, 4 
d. All   e. Answer not known 
rhpahfg; nghUe;jpAs;s ,izfisf; fz;lwpf. 
1. N[hf; - fh;ehlfh 
2. Nehfhsp – jphpGuh 
3. jyf;Nfhzk; - rl;b];fh; 
4. mjpug;gs;sp – Nfush 
gpd;tUtdtw;Ws; rhpahdit vit? 
a. 1, 4   b. 1, 2, 4   c. 1, 3, 4 
d. midj;Jk;  e. tpil njhpatpy;iy 

 
88. Match the following  

A. Kaziranga   1. Rajasthan 
B. Ranthambore   2. Karnataka 
C. Kanha   3. Assam 
D. Bhadra   4. Madhya Pradesh  
 A B C D 
a. 3 4 2 1 
b. 3 1 2 4 
c. 3 1 4 2 
d. 3 2 1 4 
e. Answer not known 
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gpd;tUtdtw;iwg; nghUj;Jf. 
A. fhrpuq;fh   1. ,uh[];jhd; 
B. uhe;jk;Nghh;   2. fh;ehlfh 
C. fhd;̀ h   3. m];]hk; 
D. gj;uh   4. kj;jpa gpuNjrk; 
 A B C D 
a. 3 4 2 1 
b. 3 1 2 4 
c. 3 1 4 2 
d. 3 2 1 4 
e. tpil njhpatpy;iy 

 
89. Swamp Deer are present in, 

a. Kanha national park   b. Gir national park 
c. Bhadra national park   d. Randhambore national park 
e. Answer not known 
rJg;G epy khd;fs; vq;F cs;sd? 
a. fhd;̀ h Njrpa G+q;fh   b. fph; Njrpa G+q;fh 
c. gj;uh Njrpa G+q;fh   d. uhe;jk;Nghh; Njrpa G+q;fh 
e. tpil njhpatpy;iy 

 
90. Choose correctly matched pair. 

1. Yercaud – 14 hairpin bends 
2. Yelagiri – lake forest 
3. Kotagiri – Nature’s heaven 
4. Javadu – Green hills 
a. 1, 2 only   b. 3, 4 only   c. All 
d. None   e. Answer not known 
rhpahf nghUe;jpAs;s ,izfisf; fz;lwpf 
1. Vw;fhL – 14 nfhz;il Crp tisTfs; 
2. Vyfphp – Vhpf;fhLfs; 
3. Nfhj;jfphp - ,aw;ifapd; nrhh;f;fk; 
4. [t;thJ – gr;irkiy 
a. 1, 2 kl;Lk;   b. 3, 4 kl;Lk;   c. midj;Jk; 
d. VJkpy;iy   e. tpil njhpatpy;iy 
 

91. Consider the following statements. 
1. Black soils are formed by weathering of sedimentary rocks. 
2. It is moist in nature. 
3. It does not retain moisture. 
4. It is used for growing cotton. 
Which of the following are correct? 
a. All   b. 1, 2, 4   c. 4 only 
d. 1, 3, 4  e. Answer not known 
gpd;tUk; $w;Wfis Ma;f. 
1. fhpry; kz; gbTg; ghiwfs; rpijtiltjhy; cUthfpd;wd. 
2. ,J ,aw;ifapNyNa <ug;gjk; nfhz;lJ. 
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3. ,J <ug;gjj;ijj; jf;f itj;Jf; nfhs;shJ. 
4. ,J gUj;jpg; gaph; ed;F tsu cjTfpwJ. 
gpd;tUtdtw;Ws; rhpahdit vit? 
a. midj;Jk;  b. 1, 2, 4   c. 4 kl;Lk; 
d. 1, 3, 4  e. tpil njhpatpy;iy 

 
92. Choose correctly matched pair. 

1. Isobar – Equal pressure tendency showing similar changes over a given time. 
2. Isollabar – Equal atmospheric pressure. 
3. Isohel – Equal temperature 
4. Isohyet - Equal amount of rainfall. 
Which of above are correct? 
a. 1, 2  b. 4  c. 1, 3, 4 d. 1, 2, 4 e. Answer not known 
rhpahf nghUe;jpAs;s ,izfisf; fz;lwpf. 
1. INrhghh;   - rkfhw;wOj;j khWghl;Lf;NfhL 
2. Inry;Nyhghh;  - rk fhw;wOj;jf; NfhL 
3. INrhnfy;  - rkntg;gf; NfhL 
4. INrhi`l; - rkkioasT NfhL 
Nkw;fz;ltw;Ws; rhpahdit vit? 
a. 1, 2  b. 4  c. 1, 3, 4 d. 1, 2, 4 e. tpil njhpatpy;iy 
 

93. Match the following 
A. Specific humidity  1. Ratio between actual amount of water vapour and 

maximum amount of water vapour. 
B. Relative humidity 2. Mass or weight of water vapour present per unit  

volume of air. 
C. Absolute humidity 3. Ratio of water vapour content of the mixture to the  

total air content. 
 A B C  
a. 3 2 1 
b. 2 3 1 
c. 3 1 2 
d. 1 2 3 
e. Answer not known 
gpd;tUtdtw;iwg; nghUj;Jf. 
A. Ra <ug;gjk;  1. fhw;wpy; cs;s ePuhtpapd; mstpw;Fk;> fhw;wpy;  

vt;tsT ePuhtp ,Uf;f KbANkh me;j mstpw;Fk; 
cs;s tpfpjk; 

B. xg;G <ug;gjk;  2. xU Fwpg;gpl;l fd msTs;s fhw;wpy; cs;s  
ePuhtpapd; vil my;yJ epiw 

C. cz;ikahd <ug;gjk; 3. xU Fwpg;gpl;l vil nfhz;l fhw;wpYs;s ePuhtpapd; 
vil 

 A B C  
a. 3 2 1 
b. 2 3 1 
c. 3 1 2 
d. 1 2 3 
e. tpil njhpatpy;iy 
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94. Hail forms only in 
a. Cumulonimbus clouds b. Nimbostratus clouds  c. Stratocumulus 
d. Cumulus   e. Answer not known 
Myq;fl;b kio _____ Nkfj;jpy; kl;LNk cUthfpwJ. 
a. fhh;jpus; Nkfk;  b. kiog;gil Nkfk;   c. fhh;gilNkfk; 
d. jpus; Nkfk;  e. tpil njhpatpy;iy 

 
95. Consider the following  

1. Floods  2. Oil spills  3. Earthquakes 4. Drought 
Which of the following are natural hazards? 
a. 1, 2, 4   b. 1, 3    c. 1, 3, 4 
d. All     e. Answer not known 
gpd;tUtdtw;iw Ma;f 
1. nts;sg;ngUf;F 2. vz;nza; frpT 3. epyeLf;fk;  4. twl;rp 
Nkw;$wpatw;Ws; ,aw;ifapy; Vw;gLk; ,lh;fs; vit? 
a. 1> 2> 4   b. 1> 3   c. 1> 3> 4 
d. midj;Jk;   e. tpil njhpatpy;iy 
 

96. Consider the following  
1. Ecological  2. Economic  3. Socio-cultural 4. Demographic 
5. Political  6. Administrative 7. Historical 
Which of the above factors are cause of migration? 
a. 1, 2, 4, 6, 7  b. 1, 2, 3, 6, 7    c. 1, 2, 3, 4, 5 
d. 1, 2, 3, 4, 6  e. Answer not known 
gpd;tUtdtw;iw Ma;f 
1. #opay;  2. nghUshjuk; 3. r%f kw;Wk; gz;ghL 
4. kf;fs; njhif 5. murpay;  6. Ml;rp Kiw 
7. tuyhW 
Nkw;fz;l tw;Ws; ,lg;ngah;Tf;fhd fhuzpfs; vit? 
a. 1, 2, 4, 6, 7  b. 1, 2, 3, 6, 7    c. 1, 2, 3, 4, 5 
d. 1, 2, 3, 4, 6  e. tpil njhpatpy;iy 
 

97. Consider the following statements. 
1. The Himalayas are formed due to tectonic activity. 
2. It stretches for a distance of 2500km from Indus gorge in east to Brahmaputra 

gorge in west. 
3. The width varies from 500km in Kashmir to 200km in Arunachala Pradesh. 
Which of above are correct? 
a. 1, 2   b. 1, 2, 3   c. 1, 3 
d. 2, 3   e. Answer not known 
gpd;tUk; $w;Wfis Ma;f 
1. GtpNkNyhl;L Nghpaf;f tpirfs; fhuzkhf ,kakiy cUthfpaJ 
2. ,J fpof;Nf rpe;J gs;sjhf;fpypUe;J Nkw;fpy; gpuk;kGj;jpuh gs;sj;jhf;F tiu 

2500 fp.kP ePsj;jpw;F gutpAs;sJ 
3. fh~;kPh; gFjpapy; 500 fp.kP mfyj;JlDk;> mUzhr;ryg; gpuNjrj;jpy; 200 fp.kP 

mfyj;JlDk; NtWgLfpwJ. 
Nkw;$wpatw;Ws; rhpahdit vit? 
a. 1, 2   b. 1, 2, 3   c. 1, 3 
d. 2, 3   e. tpil njhpatpy;iy 
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98. Consider the following statements. 

1. The greater Himalayas receive lesser rainfall compared to lesser Himalayas. 
2. Mt. Everest is located in India. 
3. Gangotri, Yamunotri and Siachen are glaciers located here. 
Which of the above statements are correct? 
a. 1, 3   b. 1, 2    c. 2, 3 
a. All   e. Answer not known 
gpd;tUk; $w;Wfis Ma;f 
1. rpwpa ,kakiyia xg;gpLifapy; nghpa ,kakiy Fiwe;j kiog;nghopitg; 

ngWfpwJ 
2. vtnu];l; rpfuk; ,e;jpahtpy; mike;Js;sJ 
3. fq;Nfhj;jphp> aKNdhj;jphp kw;Wk; rpahr;rpd; gdpahWfs; ,q;F fhzg;gLfpd;wd 
Nkw;$wpatw;Ws; rhpahdit vit? 
a. 1, 3   b. 1, 2    c. 2, 3 
d. midj;Jk;  e. tpil njhpatpy;iy 

 
99. Match the following 

A. Kashmir- Punjab Himachal Himalayas 1. Tista and dihang 
B. Kamaon Himalayas     2. Kali and Tista 
C. Central – Nepal Himalayas   3. Indus and Sutlej 
D. Assam eastern Himalayas   4. Sutlej and kali 
Which of above are correct? 

A B C D 
a. 3 4 1 2 
b. 4 3 2 1 
c. 4 3 1 2 
d. 3 4 2 1 
e. Answer not known 
gpd;tUtdtw;iwg; nghUj;Jf 
A. fh~;kPh; - gQ;rhg; - ,khr;ry ,kakiyfs; 1. jp];jh kw;Wk; jpfhq; 
B. fkhA+d; ,kakiyfs;    2. fhsp kw;Wk; jp];fh 
C. kj;jpa Neghs ,kakiyfs;   3. rpe;J kw;Wk; rl;ny[; 
D. mrhk; fpof;F ,kakiyfs;   4. rl;ny[; kw;Wk; fhsp 
Nkw;fz;ltw;Ws; rhpahdit vit? 

A B C D 
a. 3 4 1 2 
b. 4 3 2 1 
c. 4 3 1 2 
d. 3 4 2 1 
e. tpil njhpatpy;iy 

 
100. Match the following 

A. Bhabar   1. older alluviums 
B. Terai    2. gravels and un assorted sediments 
C. Bhangra   3. newer alluviums 
D. Khadar   4. excessive dampness thick forests 
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A B C D 
a. 2 4 3 1 
b. 2 4 1 3 
c. 4 2 3 1 
d. 4 2 1 3 
e. Answer not known 
gpd;tUtdtw;iwg; nghUj;Jf 
A. ghghh;   1. gioa tz;ly; gbTfs; 
B. juha;   2. ngUk; kzy;fs; kw;Wk; gbTfs; 
C. ghq;fh;   3. Gjpa tz;ly; tbTfs; 
D. fhjh;   4. mjpf <ug;gjk; nfhz;l mlh;e;j fhLfs; 

A B C D 
a. 2 4 3 1 
b. 2 4 1 3 
c. 4 2 3 1 
d. 4 2 1 3 
e. tpil njhpatpy;iy 
 

101. The western part of central highlands is known as 
a. Aravalli range   b. Rann of Kutch  c. Malwa plateau 
d. Satpura range   e. Answer not known 
kj;jpa cah;epyq;fspd; Nkw;F gFjp vt;thW miof;fg;gLfpwJ? 
a. Muty;yp kiyj;njhlh;  b. fl;r; cth; rJg;G epyk; 
c. khstg; gPlG+kp   d. rhj;Guh kiyj;njhlh; 
e. tpil njhpatpy;iy 
  

102. Which plateau is rich in mineral resources? 
a. Malwa plateau  b. Deccan plateau  c. Meghalaya plateau 
d. Chota Nagpur plateau e. Answer not known 
ve;j gPlG+kp mjpf fdpk tsq;fisf; nfhz;Ls;sJ? 
a. khstg; gPlG+kp  b. jf;fhz gPlG+kp  c. Nkfhyag; gPlG+kp 
d. Nrhl;lh ehfGhp gPlG+kp e. tpil njhpatpy;iy 

 
103. Consider the following statements. 

1. The desert lies in the western part of the Aravalli range. 
2. It covers 3/4 of rajasthan state. 
3. The actual desert region is known as Bhangar. 
4. Semi- desert region is known as Marusthali. 
Which of the above statements are correct? 
a. 1, 3, 4   b. 1 only   c. 1, 2, 4 
d. All    e. Answer not known 
gpd;tUk; $w;Wfis Ma;f 
1. jhh; ghiytdk;> Muty;yp kiyj;njhlUf;F Nkw;Nf mike;Js;sJ 
2. ,J ,uh[];jhd; khepyj;jpy; ehd;fpy; %d;W gq;fpw;F gutpAs;sJ 
3. cz;ikahd ghiytdg; gFjp ghq;fh; vd;W miof;fg;gLfpwJ 
4. miu ghiytdg; gFjp kU];jyp vd;W miof;fg;gLfpwJ 
Nkw;$wpatw;Ws; rhpahdit vit? 
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a. 1> 3 > 4   b. 1 kl;Lk;   c. 1> 2> 4 
d. midj;Jk;   e. tpil njhpatpy;iy 

 
104. Consider the following statements. 

1. The Northern part of western coastal plain is Kanara. 
2. The middle part is Konkan plain. 
3. Vembanad is a famous back water lake found in the Kerala backwaters 
Which of the following are correct? 
a. 1, 3   b. 2, 3     c. 3 
d. All   e. Answer not known 
gpd;tUk; $w;Wfis Ma;f 
1. Nkw;F flw;fiuapd; tlgFjp fduh flw;fiu vdg;gLfpwJ 
2. kj;jpa gFjp nfhq;fzf; flw;fiu vd miof;fg;gLfpwJ 
3. Nfush flw;fopapy; cs;s xU Kf;fpakhd vup Ntk;gehL vhp MFk; 
gpd;tUtdtw;Ws; rhpahdit vit? 
a. 1> 3   b. 2> 3    c. 3 kl;Lk; 
d. midj;Jk; e. tpil njhpatpy;iy 

 
105. Which of the following statement is not correct? 

a. Andaman and Nicobar islands are tectonic and Volcanic origin. 
b. India’s only active volcano is Narcondam. 
c. Islands of Arabian sea are mainly coral in origin. 
d. 572 islands are in Andaman and Nicobar. 
e. Answer not known 
gpd;tUk; $w;Wfspy; jtwhdJ vJ? 
a. me;jkhd; epNfhgh; jPTfs; Gtp cs; ,af;f tpirfs; kw;Wk; vhpkiyfshy; 

cUthdJ 
b. ,e;jpahtpd; xNu nray;gLk; vhpkiy eh;f;nfhz;lk; MFk; 
c. mugpf;fly; jPTfs; gtsg;ghiwfshy; cUthdJ 
d. me;jkhd; kw;Wk; epNfhghh; jPTfspy; 572 jPTfs; cs;sd 
e. tpil njhpatpy;iy 
 

106. Which of the following statement is not correct? 
a. the Ganga River system is the largest drainage system of India. 
b. the river Ganga originates in Gangotri glacier in Uttarakhand. 
c. the river Ganga is known as river Meghna in Bangladesh. 
d. It combined with Brahmaputra forms world’s largest delta known as 

Sunderbans. 
e. Answer not known 
gpd;tUk; $w;Wfspy; jtwhdJ vJ? 
a. ,e;jpahtpd; kpfg;nghpa tbfhy; mikg;igf; nfhz;lJ fq;if Mw;Wj; 

njhFg;ghFk; 
b. ,e;j MW cj;jufhz;by; cs;s fq;Nfhjhp gdpahw;wpypUe;J cw;gj;jpahfpwJ 
c. tq;f Nfrj;jpy; fq;if Nkf;dh vd;w ngahpy; miof;fg;gLfpwJ 
d. ,J gpuk;kGj;uh Mw;Wld; Nrh;e;J Re;jutdf; fhLfs; vdg;gLk; cyfpNyNa 

kpfg;nghpa nly;lhit cUthf;fpwJ 
e. tpil njhpatpy;iy 
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107. Choose correctly matched pair. 
1. Mango shower – Kerala 
2. Norwesters – West Bengal, Assam 
3. Blossom shower – Karnataka 
Which of the above are correct? 
a. 1, 2   b. 1, 3    c. 2 only 
d. All   e. Answer not known 
rhpahf nghUe;jpAs;s ,izfisf; fz;lwpf 
1. khQ;rhuy;  - Nfush 
2. ehh;nt];lH - Nkw;F tq;fhsk;> mrhk; 
3. kyUk; kio - fh;ehlfh 
Nkw;fz;ltw;Ws; rhpahdit vit? 
a. 1, 2   b. 1, 3    c. 2 only 
d. midj;Jk; e. tpil njhpatpy;iy 
 

108. Consider the following statements. 
1. North east monsoon also known as retreating monsoon. 
2. Andhra Pradesh, Tamil Nadu, Kerala and South Interior Karnataka receive 

45% of their total rainfall in this season. 
3. Tropical cyclones contributes much to this monsoon. 
Which of the following are correct? 
a. 1, 2   b. 2, 3    c. 1, 3 
d. All   e. Answer not known 
gpd;tUk; $w;Wfis Ma;f 
1. tlfpof;F gUtf;fhw;W gpd;dilAk; gUtf;fhw;W vd;Wk; miof;fg;gLfpwJ 
2. Me;jpu gpuNjrk;> jkpo;ehL> Nfush kw;Wk; njd;fh;ehlhftpd; cl;gFjpfs; ,e;j 

gUt fhyj;jpy; 45% nkhj;j kiog;nghopitg; ngWfpwJ 
3. ntg;g kz;ly #whtspfs; ,e;j gUtkiof;F Kf;fpa fhuzpahf cs;sJ 
gpd;tUtdw;Ws; rhpahdit vit? 
a. 1, 2   b. 2, 3    c. 1, 3 
d. midj;Jk; d. tpil njhpatpy;iy 

 

109. Consider the following statements. 
1. Alluvial soils are sediments deposited by streams and rivers. 
2. They are rich in potash, phosphoric acid, lime, and carbon compounds. 
3. They are found in Deccan plateau. 
4. Cotton, millets and tobacco are grown in these region. 
Which of above are correct? 
a. 1, 2, 3   b. 1, 2 only   c. 1, 3, 4 
d. All    e. Answer not known 
gpd;tUk; $w;Wfis Ma;f 
1. rpw;Nwhilfs; kw;Wk; MWfspd; gba itj;jypdhy; tz;ly; kz; 

cUthfpd;wd 
2. ,jpy; nghl;lhrpak;> gh];Nghhpf; mkpyk;> Rz;zhk;G kw;Wk; fhh;gd; fyitfs; 

mjpfkhf cs;sJ 
3. ,it jf;fhz gPlG+kpapy; fhzg;gLfpd;wd 
4. gUj;jp> jpiz tiffs; kw;Wk; Gifapiy ,q;F tsUk; gaph;fs;  
Nkw;$wpatw;Ws;  rhpahdit vit? 
a. 1, 2, 3   b. 1, 2 only   c. 1, 3, 4 
d. midj;Jk;  e. tpil njhpatpy;iy 



 

33 | Page  044-24339436, 42867555, 9840226187 
 

110. Match the following 
A. Jhum   1. Various parts of Madhya Pradesh 
B. Podu  2. Kerala 
C. Beewar  3. Andhra Pradesh, Odisha 
D. Ponnam  4. Assam 

A B C D 
a. 4 3 1 2 
b. 4 1 3 2  
c. 4 3 2 1  
d. 4 1 2 3 
e. Answer not known 
gpd;tUtdtw;iwg; nghUj;Jf 
A. [{k;  1. kj;jpa gpuNjrj;jpd; gy;NtW gFjpfs; 
B. nghL  2. Nfush 
C. gPthh;  3. Me;jpu gpuNjrk;> xbrh 
d. nghd;dk;  4. mrhk; 

A B C D 
a. 4 3 1 2 
b. 4 1 3 2  
c. 4 3 2 1  
d. 4 1 2 3 
e. tpil njhpatpy;iy 

 
111. Which of the following is not correct? 

a. In subsistence farming, the farmers consume almost the entire farm produce. 
b. Intensive farming involves heavy use of pesticides and chemical fertilizers. 
c. In intensive farming, preference is given to food crops. 
d. Intensive farming, is also known as factory farms. 
e. Answer not known 
gpd;tUtdtw;Ws; jtwhdJ vJ? 
a. jd;dpiwT Ntshz;ikapy; ngUk;ghyhd tpisr;ry; tptrhapfshNyNa 

Efug;gLfpwJ 
b. jPtpu Ntshz;ik mjpf G+r;rp nfhy;ypfs; kw;Wk; ,uhrhad cuq;fisg; 

gad;gLj;JfpwJ 
c. jPtpu Ntshz;ikapy; czTg; gaph;fSf;F mjpf Kf;fpaj;Jtk; 

toq;fg;gLfpwJ 
d. jPtpu Ntshz;ik> Miyg; gz;iz vdTk; miof;fg;gLfpwJ 
e. tpil njhpatpy;iy 

 
112. Choose correctly matched pair. 

1. Food crops – millets 
2. Cash crops – coffee 
3. Plantation crops – jute 
4. Horticulture crops – fruits 
Which of above are correct? 
a. 1, 4   b. 1, 2, 3, 4   c. 1, 3, 4 
d. 1, 2, 4  e. Answer not known 
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rhpahf nghUe;jpAs;s ,izfisf; fz;lwpf 
1. czTg; gaph;fs;  - jpiz tiffs; 
2. thzpgg; gaph;fs;  - fhgp 
3. Njhl;lg; gaph;fs;  - rzy; 
4. Njhl;lf;fiyg; gaph;fs;  - goq;fs; 
Nkw;fz;ltw;Ws; rhpahdit vJ? 
a. 1, 4   b. 1, 2, 3, 4   c. 1, 3, 4 
d. 1, 2, 4  e. tpil njhpatpy;iy 

 
113. Consider the following statements. 

1. Coffee is grown effectively in altitudes above 2000m sea level. 
2. Arabic and Robusta are coffee varieties. 
3. Kerala is the leading producer of coffee in India. 
Which of the following are correct? 
a. 1, 2   b. 1, 2, 3   c. 2, 3 
d. 2 only  e. Answer not known 
gpd;tUk; $w;Wfis Ma;f 
1. fhgp gaph; fly; kl;lj;jpypUe;J 2000kP cauj;jpw;F Nky; ed;whf tsuf;$baJ 
2. muhgpfh kw;Wk; nuhg];lh Mfpait fhgpapd; tiffs; MFk; 
3. ,e;jpahtpy; fhgp cw;gj;jp nra;Ak; Kjy; khepyk; Nfush MFk; 
gpd;tUtdtw;Ws; rhpahdit vit? 
a. 1, 2   b. 1, 2, 3   c. 2, 3 
d. 2 kl;Lk;  e. tpil njhpatpy;iy 
 

114. Which state has the maximum no. of livestock population in India? 
a. Rajasthan   b. Uttar Pradesh  c. Andhra Pradesh 
d. Madhya Pradesh  e. Answer not known 
,e;jpahtpd; mjpfgl;r fhy;eilfspd; vz;zpf;ifiaf; nfhz;l khepyk;> 
a. ,uh[];jhd;  b. cj;jpu gpuNjrk;  c. Me;jpu gpuNjrk; 
d. kj;jpa gpuNjrk;  e. tpil njhpatpy;iy 

 
115. Consider the following statements. 

1. The 1st livestock census was started in the year 1929- 30 
2. It is conduced every 10 years. 
3. So far 19 livestock census conducted. 
Which of the above are correct? 
a. 1, 2   b. 1, 3     c. 2, 3 
d. 3 only  e. Answer not known 
gpd;tUk; $w;Wfis Ma;f 
1. Kjy; fhy;eil fzf;nfLg;G 1929-30Mk; Mz;L njhlq;fpaJ 
2. 10 Mz;LfSf;F xUKiw vLf;fg;gLfpwJ 
3. ,Jtiu 19 fhy;eilf; fzf;nfLg;Gfs; vLf;fg;gl;Ls;sd 
Nkw;$wpatw;Ws; rhpahdit vit? 
a. 1, 2   b. 1, 3     c. 2, 3 
d. 3 kl;Lk;  e. tpil njhpatpy;iy 
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116. Consider the following statements. 
1. Andhra Pradesh is the leader in coastal (or) marine fish production 
2. Kerala is the leader in inland fish production. 
Which of the above are correct? 
a. 1 is correct   b. 2 is correct   c. Both re correct 
d. Both are wrong  e. Answer not known 
gpd;tUk; $w;Wfis Ma;f 
1. fly; kPd; cw;gj;jpapy; Me;jpu gpuNjrk; Kjd;ikahf cs;sJ 
2. cs;ehl;L kPd; cw;gj;jpapy; Nfush Kjd;ikahfj; jpfo;fpwJ 
Nkw;$wpatw;Ws; rhpahdit vit? 
a. 1 rhp   b. 2 rhp   c. ,uz;Lk; rhp 
d. ,uz;Lk; jtW  e. tpil njhpatpy;iy 

 

117. Match the following  
A. Pink revolution    1. Prawns 
B. Silver revolution   2. Potato 
C. Silver fibre revolution   3. Poultry 
D. Round revolution  4. Cotton 

A B C D 
a. 4 3 2 1 
b. 1 3 4 2 
c. 1 3 2 4 
d. 2 3 4 1   
e. Answer not known 
gpd;tUtdtw;iwg; nghUj;Jf 
A. ,sQ;rptg;Gg; Gul;rp  1. ,why; 
B. nts;spg; Gul;rp   2. cUisf;fpoq;F 

C. nts;sp ,iog; Gul;rp  3. Nfhopfs; 
D. tl;lg; Gul;rp   4. gUj;jp 

A B C D 
a. 4 3 2 1 
b. 1 3 4 2 
c. 1 3 2 4 
d. 2 3 4 1 
e. tpil njhpatpy;iy 
 

118. Match the following  
A. Peat   1.80-90% carbon 
B. Bituminous  2. 60-80% carbon 
C. Anthracite   3. less than 40% carbon 
D. Lignite    4. 40-60% carbon 

A B C D 
a. 3 1 2 4 
b. 3 2 1 4 
c. 4 2 1 3 
d. 4 1 2 3 
e. Answer not known 
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gpd;tUtdtw;iwg; nghUj;Jf 
A. kuf;fhp   1. 80-90% fhh;gd; 
B. gpl;Lkpd];   2. 60-80% fhh;gd; 
C. Me;juirl;  3. 40% Fk; Fiwe;j fhh;gd; 
D. gOg;G epyf;fhp  4. 40-60% fhh;gd; 
gpdtUtdtw;Ws; rhpahdit vit? 

A B C D 
a. 3 1 2 4 
b. 3 2 1 4 
c. 4 2 1 3 
d. 4 1 2 3 
e. tpil njhpatpy;iy 

 
119. Choose correctly matched pair. 

1. Jagatia – Maharashtra 
2. Moran – Assam 
3. Neypalatur – Tamil Nadu 
4. Medinipur – West Bengal 
Which of above are correct? 
a. 1, 2, 3   b. 2, 3, 4   c. 1, 2, 4 
d. 1, 3, 4   e. Answer not known 
rhpahf nghUe;jpAs;s ,izfisf; fz;lwpf 
1. [fhjpah - kfhuh~;buh 
2. Nkhuhd;  - mrhk; 
3. nea;gs;sj;J}h; - jkpo;ehL 
4. nkjpdpg;G+h; - Nkw;F tq;fhsk; 
Nkw;fz;ltw;Ws; rhpahdit vit? 
a. 1, 2, 3   b. 2, 3, 4   c. 1, 2, 4 
d. 1, 3, 4   e. tpil njhpatpy;iy 

 
120. Match the following  

A. HSL- Russia   1.Burnpur 
B. HSL – Germany   2. Durgapur 
C. HSL – UK    3. Rourkela 
D. IISCO    4. Bokaro 

A B C D 
a. 4 2 3 1  
b. 2 4 3 1 
c. 4 3 2 1 
d. 2 3 4 1 
e. Answer not known 
gpd;tUtdtw;iwg; nghUj;Jf 
A. HSL - u~;ah   1. gh;d;G+h; 
B. HSL - n[h;nkdp   2. Jh;fhG+h; 
C. HSL - ,q;fpyhe;J  3. &h;Nfyh 
D. IISCO    4. nghfhNuh 

 



 

37 | Page  044-24339436, 42867555, 9840226187 
 

A B C D 
a. 4 2 3 1  
b. 2 4 3 1 
c. 4 3 2 1 
d. 2 3 4 1 
e. tpil njhpatpy;iy 
 

121. Match the following  
1. Period of steady growth     a.1951-1981 
2. Period of stagnant population    b. 1921 – 1951 
3. Period of rapid high growth    c. 1981 – 2011 
4. Period of high growth with signs of slowing down d. 1901 - 1921 
Which of the following are correct? 
a. 1-d, 2-b , 3-c, 4-a  b. 1-b , 2-d , 3-a , 4-c  c. 1-d , 2-b , 3-a , 4-c 
d. 1-b , 2-d , 3-c  ,4-a  e. Answer not known 
gpd;tUtdtw;iwg; nghUj;Jf; 
1. epiyahd tsh;r;rpf; fhyk;    a.1951-1981 
2. Njf;f epiy fhyk;     b. 1921 – 1951 
3. mjpNtf tsh;r;rpf; fhyk;    c. 1981 – 2011 
4. mjpf tsh;r;rpapypUe;J tsh;r;rp 
  Fd;wy; njd;gl Muk;gpj;j fhyk;   d. 1901 - 1921 
gpd;tUtdtw;Ws; rhpahdit vit? 
a. 1-d, 2-b , 3-c, 4-a  b. 1-b , 2-d , 3-a , 4-c  c. 1-d , 2-b , 3-a , 4-c 
d. 1-b , 2-d , 3-c  ,4-a  e. tpil njhpatpy;iy 
 

122. Which of the following is not correct? 
a. Border roads organization was established in 1960. 
b. It was established for the development of roads of strategic importance in 

Northern and North eastern border areas. 
c. It has constructed world’s highest road joining Kashmir to Leh in Ladakh. 
d. This road runs at an average altitude of 4270m 
e. Answer not known 
gpd;tUtdtw;Ws; jtwhdJ vJ? 
a. vy;iyg;Gw rhiyfs; epWtdk; 1960 Mk; Mz;L epWtg;gl;lJ 
b. ,J Kf;fpaj;Jtk; tha;e;j tlf;F kw;Wk; tlfpof;F vy;iyg; gFjpfspy; 

rhiyfs; mikf;f cUthf;fg;gl;lJ. 
c. cyfpd; caukhd rhiyia fh~;kPhpypUe;J ylhf;fpy; cs;s Ny tiu ,J 

mikj;Js;sJ.  
d. ,r;rhiy fly; kl;lj;jpypUe;J ruhrhpahf 4270 kPl;lh; cauj;jpy; cs;sJ. 
e. tpil njhpatpy;iy 
 

123. Choose correctly matched pair. 
1. NW- 1 – Sadiya Dhubri 
2. NW-2 – Kollam to Kotapuram 
3. NW-3 - Haldia to Allahabad 
Which of above are correct? 
a.1, 2   b. 2, 3    c. 1, 2, 3 
d. None  e. Answer not known 
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rhpahf nghUe;jpAs;s ,izfisf; fz;lwpf 
1. NW- 1 – rhbah Jgphp 
2. NW-2 –  nfhy;yk; Nfhl;lGuk; 
3.  NW-3 –  `hy;bah myfhghj; 
Nkw;$wpatw;Ws; rhpahdit vit? 
a.1, 2   b. 2, 3    c. 1, 2, 3 
d. vJTkpy;iy  e. tpil njhpatpy;iy 

 
124. Match the following  

1. Hindustan Shipyard    a. Mumbai 
2. Garden Reach Workshop   b. Vizag 
3. Mazagaon Dock     c. Kolkata 
4. Kochi Shipyard     d. Kochi 
Which of the following are correct? 
a. 1-c , 2-b  , 3-a , 4-d  b. 1-c , 2-a , 3-b , 4-d  c. 1-b , 2-c , 3-a , 4-d 
d. 1-a , 2-b , 3-c , 4-d  e. Answer not known 
gpd;tUtdtw;iwg; nghUj;Jf: 
1. ,e;J];jhd; fg;gy; fl;Lk; jsk;   a Kk;ig 
2. fhh;ld; uPr; fg;gy; fl;Lk; njhopw;rhiy  b tprhfg;gl;bdk; 
3. krhfhd; fg;gy; fl;Lk; jsk;   c nfhy;fj;jh 
4. nfhr;rp fg;gy; fl;Lk; jsk;    d nfhr;rp 
gpd;tUtdtw;Ws; rhpahdit vit? 
a. 1-c , 2-b  , 3-a , 4-d  b. 1-c , 2-a , 3-b , 4-d  c. 1-b , 2-c , 3-a , 4-d 
d. 1-a , 2-b , 3-c , 4-d  e. tpil njhpatpy;iy 
 

125. Choose correctly matched pair. 
International airports  Location 
1. Subash chanda Bose  - Kolkata 
2. Indira Gandhi   - Mumbai 
3. Rajiv Gandhi   - Delhi 
4. Vallabhai Patel   - Pune 
Which of above are correct? 
a. 1 only   b. 1, 3, 4   c. 1, 2, 4 
d. 2, 3, 4   e. Answer not known 
rhpahfg; nghUe;jpAs;s ,izfisf; fz;lwpf 
gd;dhl;L tpkhd epiyak;  ,lk; 
1. Rgh~; re;jpu Ngh];  - nfhy;fj;jh 
2. ,e;jpuh fhe;jp   - Kk;ig 
3. ,uh[Pt; fhe;jp   - nly;yp 
4. ty;ygha; gNly;   - G+Nd 
Nkw;$wpatw;Ws; rhpahdit vit? 
a. 1 kl;Lk;   b. 1, 3, 4   c. 1, 2, 4 

 d. 2, 3, 4   e. tpil njhpatpy;iy 
 
126. Consider the following statements. 

1. Radio broadcasting in India was started in 1923. 
2. It was named as All India Radio in 1936. 
3. It was renamed as Akashvani in 1957. 
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Which of above are correct? 
a. 1, 2   b. 2, 3    c. 1, 3 
d. All   e. Answer not known 
gpd;tUk; $w;Wfis Ma;f: 
1. ,e;jpahtpy; - thndhyp xypgug;G Nrit 1923 Mk; Mz;L njhlq;fg;gl;lJ. 
2. ,J 1936 Mk; Mz;L mfpy ,e;jpa thndhyp vd;W ngahplg;gl;Ls;sJ. 
3. 1957 y; “Mfhr thzp” vd;W ngah; khw;wk; nra;ag;gl;lJ. 
Nkw;$wpatw;Ws; rhpahdit vit? 
a. 1 , 2   b. 2 , 3    c. 1, 3  
d. midj;Jk;  e. tpil njhpatpy;iy 

 
127. Consider the following statements. 

1. It is one of major cash crop. 
2. It requires high temperature and heavy rainfall. 
3. It grows well in tropical regions. 
Which crop satisfies above conditions? 
a. Cotton   b. Jute    c. Sugarcane 
d. Pulses   e. Answer not known 
gpd;tUk; $w;Wfis Ma;f: 
1. ,J xU Kf;fpakhd thzpgg; gapuhFk;. 
2. ,jw;F mjpf ntg;gepiy kw;Wk; mjpf kiog;nghopT Njitg;gLfpwJ. 
3. ,J ntg;gkz;lyg; gFjpfspy; ed;F tsUk;. 
ve;j gaph; Nkw;fhZk; tud;Kiwfisg; G+h;j;jp nra;fpwJ? 
a. gUj;jp   b. rzy;   c. fUk;G 
d. gUg;G tiffs;  e. tpil njhpatpy;iy 

 
128. Consider the following statements. 

1. Cotton is a fibre and cash crop. 
2. It requires black soil, long frost free condition and warm and humid weather. 
3. It is predominantly in northern districts in Tamilnadu 
Which of the above are correct? 
a. 1, 3   b. 1, 2    c. 2, 3 
d. 1, 2, 3  e. Answer not known 
gpd;tUk; $w;Wfis Ma;f: 
1. gUj;jp xU ,iog;gaph; kw;Wk; thzpgg; gapuhFk; 
2. ,jw;F fhpry; kz;> ePz;l gdpg;nghoptw;w fhyk;> kpj ntg;g kw;Wk; <ug;gj 

thdpiy Mfpait Njitg;gLfpwJ. 
3. ,J ngUk;ghYk; jkpo;ehl;bd; tl khtl;lq;fspy; fhzg;gLfpwJ. 
Nkw;$wpatw;Ws; rhpahdit vit? 
a. 1, 3   b. 1, 2    c. 2, 3 
d. 1, 2, 3  e. tpil njhpatpy;iy 

 
129. Which dam is one of the biggest earthen dams in the country? 

a. Mettur dam  b. Bhavanisagar dam c. Krishnagiri dam 
d. Papanasam dam  e. Answer not known 
ve;j miz ehl;bd; kz;-fy; fyitahy; fl;lg;gl;l kpfg;nghpa mizfSs; 
xd;W? 
a. Nkl;^h; miz  b. gthdp rhfh; miz c. fpU~;zfphp miz 
d. ghgehrk; miz   e. tpil njhpatpy;iy 
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130. Consider the following statements. 
1. Mettur dam is one of the oldest dam in India. 
2. It is constructed across river Cauvery in a gorge. 
3. It provides irrigation to about 4,50,000 acres of farmland. 
Which of above are correct? 
a. 1, 2   b. 1, 3    c. 2, 3 
d. 1, 2, 3  e. Answer not known 
gpd;tUk; $w;Wfis Ma;f: 
1. Nkl;^h; miz ,e;jpahtpd; kpfg; goikahd mizfspy; xd;whFk; 
2. fhtphp Mw;wpd; FWf;Nf kiyapLf;Fg; gFjpapy; fl;lg;gl;Ls;sJ. 
3. ,J 4>50>000 Vf;fh; tpisepyj;jpw;F ePh;g;ghrd trjpia mspf;fpwJ. 
Nkw;$wpatw;Ws; rhpahdit vit? 
a. 1, 2   b. 1, 3    c. 2, 3 
d. 1, 2, 3  e. tpil njhpatpy;iy 
 

131. The cloud which is smooth milky transparent whitish clouds composed of tiny 
ice – crystals? 
a. Cirrus    b. Cirro – Cumulus 
c. Cirro – Stratus   d. Alto – Cumulue 
e. Answer not known 
nkd;ikahf ghy; Nghd;w nts;is epwj;jpy; fz;zhb Nghd;W  fhzg;gLk; 
kpfr;rpwpa gdpj;Jfs;fisf; nfhz;l Nkfk;? 
a. fPw;W    b. fPw;W jpus;   c. fPw;Wg;gil 
d. ,ilg;gl;l jpus;   e. tpil njhpatpy;iy 
 

132. INCOIS – Indian National Centre for Ocean Information Services is located in  
a. Vascodagama, Goa b. Chennai   c. Dono Paulo, Goa  
d. Hyderabad  e. Answer not known 
,e;jpa Njrpa ngUq;fly; jfty; Nrit ikak; (INCOIS) vq;F mike;Js;sJ? 
a. th];Nfhlfhkh> Nfhth b. nrd;id   c. NlhNdh ghNyh> Nfhth 
d. i`juhghj;  e. tpil njhpatpy;iy 

 
133. El-nino happens when 

i. Sea surface temperature increases between the central and equatorial 
Pacific Ocean. 

ii. The increase in temperature is sustained for a period of 18 months to 2 
years. 

iii. The temperature decrease is upto 30m beneath the ocean surface. 
iv. When there is a modified vertical air circulation above the Pacific Ocean. 
Which of the following above are correct? 
a. i, ii are correct  b.  i, ii, iii are correct  c. i, ii, iv are correct  
d. All are correct  e. Answer not known 
vy;-epNdh vg;NghJ epfOk;? 
i. Gtpapilf;Nfhl;L grpgpf; ngUq;flypd; kj;jpa kw;Wk; fpof;F gFjpapy; 

flypd; Nkw;gug;G ntg;gepiy mjpfhpj;jy;. 
ii. ntg;gepiy mjpfhpg;G gjpndl;L khjq;fs; Kjy; ,uz;L tUlq;fSf;F 

ePbj;jy;. 
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iii. ntg;gepiy mjpfhpg;G Nkw;gug;gpypUe;J Kg;gJ kPl;lh; Mok; tiu 
gutpapUj;jy;. 

iv. grpgpf; ngUq;flypd; Nky; khWgl;l nrq;Fj;J fhw;W Row;rp epiy 
Vw;gLk;NghJ 

Nkw;$wpatw;Ws; rhpahdit vit? 
a. (i), (ii) rhp   b.  (i), (ii), (iii) rhp   c. (i), (ii), (iv) rhp 
c. midj;Jk; rhp  e. tpil njhpatpy;iy 
 

134. In Asian Summer Monsoon, the Low pressure is located in  
a. Lake Baikal  b. Aleutian Islands  c. Japan Islands 
d. Hawaii Island  e. Answer not known 
Mrpa Nfhilf;fhy gUtf;fhw;wpy;> vq;F jho; mOj;jk; Vw;gLfpwJ? 
a. ga;fhy; Vhp  b. my;Y}rpad; jPTfs; c. [g;ghd; jPTfs;  
d. `tha; jPTfs;  e. tpil njhpatpy;iy 
 

135. Which country has the highest number of languages? 
a. India  b. Papua New Guinea  c. Russia 
d. Fiji   e. Answer not known 
ve;j ehL mjpfgl;r nkhopfisf; nfhz;Ls;sJ? 
a. ,e;jpah  b. gg;Gth epA+ fpdpah  c. u~;ah 
d. /gp[p  e. tpil njhpatpy;iy 

 
136. Consider the following statements. 

1. They are food gathering communities of Tamil Nadu. 
2. It is believed that they originally belonged to Palani hills. 
3. They are distributed in the districts of Madurai, Thanjavur, Pudukottai. 
Which of the following tribe suits the above statements? 
a. Irula   b. Paliyan   c. Badaga 
d. Toda   e. Answer not known 
gpd;tUk; $w;Wfis Ma;f 
1. ,th;fs; jkpo;ehl;bd; czT Nrfhpf;Fk; r%fj;ijr; Nrh;e;jth;fs; 
2. ,th;fs; godpkiyg; gFjpfisr; Nrh;e;jth;fs; vd;W ek;gg;gLfpwJ 
3. ,th;fs; kJiu> jQ;rhT+h;> GJf;Nfhl;il khtl;lq;fspy; gutyhff; 

fhzg;gLfpd;wdh; 
gpd;tUtdtw;wpy;> Nkw;$wpa $w;WfSf;F nghUj;jkhd goq;Fbapdh; ahh; 
a. ,sUsh;fs;  b. ghypahd;   c. gLfh;fs; 
d. Njhlh;fs;   e. tpil njhpatpy;iy 

 
137. Consider the following statements. 

1. The Irula tribes occupy the lower slopes and base of Nilgiri hills. 
2. This Tribe produces honeys, fruits, herbs, roots, etc. 
3. They have specialized and distinctive language 
4. In recent times, they help in catching snakes and collect snake venoms. 
Which of above are correct? 
a.1, 2, 3   b. 1, 2, 4   c. 2, 3, 4 
d. 1, 2, 3, 4   e. Answer not known 
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gpd;tUk; $w;Wfis Ma;f 
1. ePyfphp kiy mbthuj;jpYk;> mjd; jho;thd rhpTfspYk; ,Ush; goq;Fbapdh; 

fhzg;gLfpd;wdh; 
2. ,e;j goq;Fbapdh;> Njd;> goq;fs;> %ypiffs;> Nth;fs; Mfpatw;iw cw;gj;jp 

nra;fpd;wdh; 
3. mth;fSf; nfd;W xU rpwg;Gkpf;f jdpj;Jtkhd nkhop cz;L 
4. rkPg fhyq;fspy; ,th;fs; ghk;Gfis gpbj;J ghk;G tp~j;ij Nrfhpf;fpd;wdh; 
Nkw;$wpatw;Ws; rhpahdit vit? 
a.1, 2, 3   b. 1, 2, 4   c. 2, 3, 4 
d. 1, 2, 3, 4   e. tpil njhpatpy;iy 

 
138. Consider the following statements. 

1. Badagas belong to backward class and are not classified as tribal. 
2. They engaged in hunting and food gathering. 
3. They dwelling in higher plateau of Nilgiri. 
Which of above are correct? 
a. 1, 2,   b. 1, 3    c. 2, 3 
d. 1, 2, 3  e. Answer not known 
gpd;tUk; $w;Wfis Ma;f 
1. gLfh; ,dj;jth; gpd;jq;fpa tFg;igr; Nrh;e;jth;fs;> mth;fs; 

goq;Fbapdj;jtuhf tifg;gLj;jg;gltpy;iy 
2. mth;fs; Ntl;ilahLjy; kw;Wk; czT Nrfhpj;jypy; <LgLfpd;wdh; 
3. ,th;fs; ePyfphp cah; gPlG+kpapy; tho;fpd;wdh; 
Nkw;fz;ltw;Ws; rhpahdit vit 
a. 1, 2,   b. 1, 3    c. 2, 3 
d. 1, 2, 3  e. tpil njhpatpy;iy 

 
139. India launched its first geostationary satellite called 

a. GOES   B. METEOSAT  c. APPLE 
d. INTELSAT  e. Answer not known 
,e;jpah tpz;zpy; nrYj;jpa Kjy; Gtpepiy nraw;iff; Nfhs; 
a. GOES   B. METEOSAT  c. APPLE 
d. INTELSAT  e. tpil njhpatpy;iy 
 

140. Consider the following statements. 
1. Geostationary satellite orbiting the earth at an altitude of 35000km. 
2. The satellite are put in equatorial plane orbiting from east to west. 
3. Its coverage is limited to 40° N to 40° ‘S latitudes. 
Which of above are correct? 
a. 1 only   b. 1, 2    c. 1, 3 
d. 1, 2, 3   e. Answer not known 
gpd;tUk; $w;Wfis Ma;f 
1. Gtpepiy nraw;iff;Nfhs; 35>000fpkP cauj;jpy; Gtpiar;  Rw;wp tUfpwJ 
2. ,e;j nraw;iff;Nfhs; GtpeLf;Nfhl;Lg; gFjpapy; fpof;fpypUe;J Nkw;fhf Rw;wp 

tUfpwJ 
3. ,jd; glk;gpbf;Fk; gug;G 40˚t Kjy; 40˚ nj ml;rq;fshFk; 
Nkw;$wpatw;wpy; rhpahdit vit? 
a. 1 kl;Lk;   b. 1, 2    c. 1, 3 
d. 1, 2, 3   e. tpil njhpatpy;iy 
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141. Choose correctly matched pair. 
1. 1st Generation  - Vacuum tubes 
2. 2nd Generation - Transistors 
3. 3rd Generation - Microprocessors 
4. 4th Generation - Integrated circuits 
5. 5th Generation - Artificial intelligence 
Which of above are correct? 
a.1, 2, 3, 4   b. 1, 2, 5   c. 2, 3, 4,5 
d. All    e. Answer not known 
rhpahf nghUe;jpAs;s ,izfisf; fz;lwpf 
1. Kjy; jiyKiw  - ntw;wplf; Foha;fs; 
2. ,uz;lhk; jiyKiw - kpd;kg;nghwp 
3. %d;whk; jiyKiw - Ez; nraypfs; 
4. ehd;fhk; jiyKiw - xUq;fpize;j kpd;Rw;W 
5. Ie;jhk; jiyKiw - nraw;if Ez;zwpT 
Nkw;fz;ltw;Ws; rhpahdit vit? 
a.1, 2, 3, 4   b. 1, 2, 5   c. 2, 3, 4,5 
d. midj;Jk;   e. tpil njhpatpy;iy 

 
142. Data about the data is known as  

a. Metadata   b. Metaverse    c. Gigadata 
d. Terradata   e. Answer not known 
juTfs; Fwpj;j juTfs; 
a. kPj;njhFg;G  b. nkl;lhnth;];   c. [pfhj; njhFg;G 
d. nluhj; njhFg;G  e. tpil njhpatpy;iy 

 
143. The first satellite navigation system was  

a. GPS   b. GLONASS   c. Transit 
d. GALILEO  e. Answer not known 
cyfpd; Kjy; CLUty; nraw;iff;Nfhs; mikg;G 
a. GPS   b. GLONASS   c. l;uhd;rpl; 
d. GALILEO  e. tpil njhpatpy;iy 

 

144. Choose correctly matched pair. 
1. USA   GPS 
2. Russia   GALILEO 
3. European Union  GLONASS 
4. Japan   QZSS 
5. China   BEIDOU 
Which of above are correct? 
a. 1, 2, 3   b. All    c. 1, 2, 4 
d. 1, 4, 5   e. Answer not known 
rhpahf nghUe;jpAs;s ,izfisf; fz;lwpf 
1. If;fpa mbkhpf;f ehLfs; - GPS 
2. u~;ah    - GALILEO 
3. INuhg;gpa $l;likg;G  - GLONASS 
4. [g;ghd;    - QZSS 
5. rPdh     - BEIDOU 
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Nkw;fz;ltw;Ws; rhpahdit vit? 
a. 1, 2, 3   b. midj;Jk;   c. 1, 2, 4 
d. 1, 4, 5   e. tpil njhpatpy;iy 

 
145. Consider the following  

1. Convention on Biological diversity  
2. Agenda 21 
3. Forest principles 
4. Brundtland report 
5. Millennium development goals 
6. United Nations framework for convention on climate change. 
Which of above comes under earth summit? 
a. 1, 2, 4, 5  b. 1, 2, 3, 5, 6   c. 1, 2, 3, 4, 6 
d. 1, 2, 3, 6  e. Answer not known 
gpd;tUk;tdtw;iw Ma;f 
1. caphpdg; gd;ik khehL 
2. Nfhhpf;if 21 
3. tdf; nfhs;iffs; 
4. g;uz;l;yz;l; mwpf;if 
5. E}w;whz;L tsh;r;rp ,yf;Ffs; 
6. fhyepiy khw;wj;jpw;fhd If;fpa ehLfs; fl;likg;G khehL (UNFCCC) 
Nkw;fz;ltw;Ws; vit Gtp cr;rp khehl;bd; fPo; tUfpd;wd 
a. 1, 2, 4, 5  b. 1, 2, 3, 5, 6   c. 1, 2, 3, 4, 6 
d. 1, 2, 3, 6  e. tpil njhpatpy;iy 

 
146. Match the following  

A. Cop 15  1.Cancun 
B. Cop 16  2. Durban 
C. Cop 17  3. Copenhagen 

A B C 
a. 3 2 1 
b.  2 1 3 
c.  3 1 2 
d. 1 3 2 
e. Answer not known 
gpd;tUtdtw;iwg; nghUj;Jf 
A. Cop 15  1. fhd;fd; 
B. Cop 16  2. lh;gd; 
C. Cop 17  3. Nfhgd; N`fd; 

A B C 
a. 3 2 1 
b.  2 1 3 
c.  3 1 2 
d. 1 3 2 
e. tpil njhpatpy;iy 
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147. Sustainable development goals set for a period of  
a. 2015-2030  b. 2017-2032   c. 2016- 2030 
d. 2016- 2031  e. Answer not known 
Ngzj;jFe;j Nkk;ghL ,yf;Ffs; ve;j fhyj;jpw;F eph;zapf;fg;gl;Ls;sJ? 
a. 2015-2030  b. 2017-2032   c. 2016- 2030 
d. 2016- 2031  e. tpil njhpatpy;iy 

 
148. Match the following  

A. SDG 1  1. Reduce inequality within and among countries 
B. SDG 2 2. End poverty in all forms everywhere 
C. SDG 5 3. End hunger achieved food security and improved nutrition. 
D. SDG 10 4. Achieve gender equality and empower all women and girls 

A B C D 
a. 3 2 4 1 
b. 3 2 1 4  
c. 2 3 4 1 
d. 2 3 1 4 
e. Answer not known 
nghUj;Jf 
A. SDG 1 1. Njrq;fSf;Fs; kw;Wk; Njrq;fSf;fpilNa cs;s rkkpd;ikiaf;  

Fiwj;jy; 
B. SDG 2 2. vy;yh ,lq;fspYk; vy;yh tifahd tWikiaAk; xopj;jy; 
C. SDG 5 3. grpia xopj;jy;> czT ghJfhg;G kw;Wk; Nkk;gl;l Cl;lr;rj;ijg;  

ngWtJ  
D. SDG 10 4. ghypd rkj;Jtk; kw;Wk; ngz;Foe;ijfSf;F mjpfhukspj;jy;  

A B C D 
a. 3 2 4 1 
b. 3 2 1 4  
c. 2 3 4 1 
d. 2 3 1 4 
e. tpil njhpatpy;iy 
 

149. Arrange the EIA process by order  
1. Impact analysis  2. Review of EIA  3. Post monitoring 
4. Screening   5. Scoping   6. Mitigation 
7. Reporting   8. Decision- making 
a. 4, 5, 1, 6, 7, 2, 8, 3  b. 4, 5, 1, 2, 6, 7, 8, 3  c. 4, 5, 1, 2, 7, 6, 8, 3 
d. 4, 5, 1, 7, 6, 2, 8, 3  e. Answer not known 
Rw;Wr;#oy; jhf;fj;jpid kjpg;gpLk; nray;Kiwg; gbepiyfis thpirg;gLj;Jf 
1. jhf;fj;ij Muha;jy; 2. kW Ma;T nra;jy; 3. gpe;ija fz;fhzpg;G 
4. ghjpg;G Fwpj;J Ma;T  5. Nehf;fk;   6. kl;Lg;gLj;Jjy; 
7. mwpf;if   8. KbT vLj;jy; 
a. 4, 5, 1, 6, 7, 2, 8, 3  b. 4, 5, 1, 2, 6, 7, 8, 3  c. 4, 5, 1, 2, 7, 6, 8, 3 
d. 4, 5, 1, 7, 6, 2, 8, 3  e. tpil njhpatpy;iy 
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150. Which was the largest country of origin of International Migrants as per 
International Migration Report, 2017? 
a. Canada  b. India     c. Mexico   
d. Sri Lanka  e. Answer not known 
rh;tNjr Gyk;ngah;e;Njhh; mwpf;ifapd; gb 2017 Mk; Mz;by; rh;tNjr 
Gyk;ngah;tpy; ve;j ehL kpfg; nghpa ehlhf jpfo;e;jJ? 
a. fdlh  b. ,e;jpah    c. nk/rpNfh  
d. ,yq;if  e. tpil njhpatpy;iy 
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